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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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3ideh 1386
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LRl 270
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How many speakers of the seven most widely spoken languages are there (spoken as either first or second language)?

1. 5.223 billion
2.5.116 billion
3. 5.156 billion
4, 5.215 billion

1)
(2)
(3)
(4)

T4l A9 €4 Y aici o gl 9id YTl & fard- addn (0ud 31 fGdig e 8 9 @is U aidl o arell Y9 82

1. 5.223 faferm
2. 5.116 fafe@q
3. 5.156 faferm=
4.5.215 fafemgq

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=26901] Question Description : dwbv_pg_gp20_eng_2_q1l
2[Option ID=26902]
3[Option ID=26903]
4[Option ID=26904]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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iR i gaifas sage U 9 aicht S Hierei-sEeh, 9, Wi, S, e, gmel SR SRE! & TuHE-HIET & gadrsi!
@1 T @l &1 71 fay R o 3,800 Fd UINTY §, 1,7 UTHISM & SFTel 40 aul o faga @ M= § 3R 72,5 wfowd umaret &
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Which suggested answer most closely represents the fraction of first-language speakers of the seven most widely spoken
languages that speak Spanish or French?

1.1/10%™
2.1/t
3. 1/6%
4, 1/5t

1)
(2)
(3)
(4)

A W N =

Fofafed o O o gefad SR waiite ads €U 3§l o arel id HIEIsi & TUH-T6] & Jadiel & 39 A &
T4l Hdedl 9§ uidFiea &l 8, Sif iH 91 Thd & dadl a7

1.1/10dl
2.1/7d
3.1/6 Gl
4.1/54df

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26905] Question Description : dwbv_pg_gp20_eng_2_q2
2[Option ID=26906]
3[Option ID=26907]
4[Option ID=26908]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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How many speakers are there currently of the languages predicted to die out?

1. 7.6 billion
2. 5.2 billion
3. 3.8 billion
4, Cannot tell

1)
(2)
(3)
(4)

A W N R

T B aTel HIwTSTt & gadreil &1 §e aaAH § o &7

1. 7.6 faferm=
2. 5.2 fafema
3. 3.8 faferma
4. 91 Tel Hebdl

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26909] Question Description : dwbv_pg_gp20_eng_2_q3
2[Option ID=26910]
3[Option ID=26911]
4[Option ID=26912]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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How many languages are expected to die out over the next 100 years?

1.3800
2.3455
3. 2655
4, 2755

(1) 1
(2) 2
3) 3
(4) 4

3Tl 100 NI H fabat {TuTaHl & g giF B 3120 3 718 87

1. 3,800
2.3,455
3. 2,655
4.2,755

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26913] Question Description : dwbv_pg_gp20_eng_2_q4
2[Option ID=26914]

3[Option ID=26915]
4[Option ID=26916]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140

39 AIfAeT & STUR W U & IR SIo1e
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Which suggested answer is the closet estimate of the proportion of the world's population who speak Chinese as a first
language?

1.1in12
2.1in10
3.1in8
4.1in6

OR!
(2) 2
3) 3
(4) 4

fafaiad o 9 o9 Qaidd SR % @1 oFEEd & 39 YU & U9 A 6, ol WyH YT & ¥4 § -1 Y6 &
gadl 87

112591
2.108d1
3.8
4.67T1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26917] Question Description : dwbv_pg_gp20_eng_2_q5
2[Option ID=26918]

3[Option ID=26919]
4[Option ID=26920]

Sl. No.6
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A child firstly learns to differentiate between various things i.e, men, women, animals, birds and later on s/he unifies these
differentiated concepts to form a single concept called as -------—----

1. Restructuration
2. Differentiation
3. Generalisation
4. Memorisation

1) 1
() 2
(3) 3
(4) 4

U sSTas YdyuyH fafdy aegaf o qoul Afgcrsi Ga, Uiaal & A9 He H UHl URadl § 3R 91 H dg Udhd SayRN HiHd
B g 37 [9UTEd SaURUNS] &I U PR Gdl 6 ?

1. (AR
2. faddiau
3. IR

4, HJHIO

(1) 1
) 2
3) 3
(4) 4




1[Option ID=26921] Question Description : dwbv_pg_gp20_eng_2_q6
2[Option ID=26922]
3[Option ID=26923]
4[Option ID=26924]

Sl. No.7
QBID:20201007

Which of the following Curriculum development models comes under Non-technical Non-Scientific model?

1. Taba's Model

2. Hunkin’s Development model
3. Goodlad's Model

4. Open classroom Model

11
(2) 2
3) 3
(4) 4

fgfafad 4 9 oF-91 ureaadl [A@y "isd Wideu), TR-ae-1@! IR-dgli-d J1sd (|fas) & =iid 3l 6 ?

1. 1T - AISd
2. Bftr - famrg Afsa
3. 7[3ds - Alsd

4. Hdd DE-DE HISA

1)
(2)
(3)
(4)

A W N R

1[Option ID=26925] Question Description : dwbv_pg_gp20_eng_2_q7
2[Option ID=26926]
3[Option ID=26927]
4[Option ID=26928]

Sl. No.8

QBID:20201008
—————————————— is a digitized collection of artifacts, resources, and accomplishments of an individual or group that forms part
of personal online spaces called as digital learning Platforms.

1. Automated Text Marker (ATM)
2. E- Portfolios

3. Discourse structure analysis
4. Calibrand Marker

1)
(2)
(3)
(4)

A W N R

Tl cafad srar Ug & damiadi, G R Juaier o fsfda g & o afera sHasT -HA Fifa
&¥d 8, 3 faforea siftrm wiewnd sgamd 21

1. 3ieHCS ¢RI AR (TSUH)
2.3 - Uidwifeaar

3. fouaid waR iR

4. HlsiUS A

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26929] Question Description : dwbv_pg_gp20_eng_2_q8
2[Option ID=26930]

3[Option ID=26931]
4[Option ID=26932]

Sl. No.9
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Jasmine in Chemistry practical class used a 5 ml pipette during her practical exam but the reading was not correct. When
she got frustrated, her friend Ranjita guided her to hold the pipette correctly and drop chemical properly. Now, she
succeeded and got desired results. This is an example of

1. Accommodation

2. Equilibriums

3. Assimilation

4. Zone of Proximal Development

1) 1
(2) 2
3) 3
(4) 4

S = U TG (99 & SARTRIET daf H U TR Uial o 95y U 5 e, fue o1 wanT faar fdig ursdis el
gl 11 5fd dg Bdlcalied i+ oill, de S9! 57 deiial 4 34 e @I 3id d Udbs- 3R I6EH & Yol ¢71 4 SieH &l gA1d
& 3@ I Whadl Ud @1 iR fuféd aRom U e 98 69 UHR &1 356 & ?

1. e

2. a1

3. THATCIDROT

4. geio®y faerg-aa

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26933] Question Description : dwbv_pg_gp20_eng_2_q9
2[Option ID=26934]

3[Option ID=26935]
4[Option ID=26936]
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Which of the following are the elements of ocbservation learning (one of the outcomes of Bandura's Social Cognitive theory
of learning?)

A, Attention

B. Retention

C. Articulation

D. Production

E. Mativation

Choose the correct answer from the options given below:

1. A B and D only
2.Cand E only

3.A B, D and E only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N R

fFrafciad # 9 DI Uair SHfErH (@5 @1 A ddel gHieis d9FE fbeid & URumE H 8 udh) & dd & ?
A

B. UfdeRor

C. U

D. Jdigd

E. SfHTROT

i< feu e faseal 4 4 98 I g -

1.Bad A, B 3R D
2. PAACHRE

3. Had A, B, D AR E
4.%ad B, C 3R D

1)
(2)
(3)
(4)

A W N =

1[Option ID=26937] Question Description : dwbv_pg_gp20_eng_2_q10
2[Option ID=26938]
3[Option ID=26939]
4[Option ID=26940]
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Given below are two statements:

Statement |: Applied research is concerned with generalization and the formulation of theory.
Statement |l: Fundamental research aims at finding a solution for an immediate problem facing a society.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

A dl Py RU U E:

T - | : AHTERTAD Ay HRAHR 3R Riga & ufaures ¥ deftd s gl
DY - 1| : A 1Y BT 353G THIH D (bl dlebici YHEN &1 GHIHH B 6|
Iudad Syl & srdis | Fafafad faedl § 9 gdl Sav g -

1. Y 1 3R 1 &F 9 B
2. %Y | AR 11 GF T &
3. P TR g, b Y I TTad & |
4. @Y1 71Ad &, fb=g &Y 11 98l B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26941] Question Description : dwbv_pg_gp20_eng_2_q11
2[Option ID=26942]

3[Option ID=26943]
4[Option ID=26944]

Sl. No.12
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When a set of possible answers to select for a question is given to a respondent, it is called

1. Open-ended question
2. Classical question
3. Filtered question
4. Fixed choice question

1) 1
(2) 2
3) 3
(4) 4




o [ dl SR @ f&d vy & fou Svifdd 3™ & 994 & fau Sl &1 U Ie fadl 9l 6, i 54 &1 el oidl 6 ?

1. i (3T 3) uy

2. TR (Gereiieher) Uy

3. s Uy

4. 4144 fadbeg ard Uy (s =raq uy)

1)
(2)
(3)
(4)

A W N R

1[Option ID=26945] Question Description : dwbv_pg_gp20_eng_2_q12
2[Option ID=26946]
3[Option ID=26947]
4[Option ID=26948]

Sl. No.13
QBID:20201013

Coding schedule is used in

1. Discourse analysis
2. Rhetorical analysis
3. Content analysis

4. Narrative analysis

1)
(2)
(3)
(4)

A W N =

DI Vsga @I w4 e fHar Jmar g -

1. fom=f o) fasaioo
2. B [a=ewour

3. fa9g-a% fa=eiyur

4. gaiq fa=amo

1)
(2)
(3)
(4)

A W N R

1[Option ID=26949] Question Description : dwbv_pg_gp20_eng_2_q13
2[Option ID=26950]
3[Option ID=26951]
4[Option ID=26952]

Sl. No.14
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When a sample is chosen because it is available to the researcher, it is known as

1. Probability sampling
2. Convenience sampling
3. Systematic sampling
4. Objective sampling

1)
(2)
(3)
(4)

A W N R




e fpdt ufaeel &1 9a- gafey four o § & gg wivddl & fog 3uas §, 9 38 @ 1H-91 Ufdes $gl 9l 6 -

1. Gy Ufdaa
2. gfayreg ufa=ga
3. YEaEg Ufaagd
4. TEFAE vl

1)
(2)
(3)
(4)

A W N R

1[Option ID=26953] Question Description : dwbv_pg_gp20_eng_2_q14
2[Option ID=26954]
3[Option ID=26955]
4[Option ID=26956]

Sl. No.15
QBID:20201015

Given below are two statements:

Statement |: A Spurious relationship can be there when a relationship appears to exist between two variables.
Statement |I: The relationship between two variables is always direct, without any scope for an intervening variable.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

dR Py RuUE:

DYF - | : O &l IR P oid dlg Ga¢ UdId 8idl o, df de (Har Gae gl 9odl o

HYA - 11 : & R & sl Yae H YA Bldl 6, 394 (bl S=addl &R ®I dIg JoIsD gl aldl o
Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. Y | SR 1 &F TR B
2. %Y | AR 11 G TTad & |
3. %Y 1Tl g, fog @Y 1 Tad § |
4. @Y1 71Ad & , fb=q BY 11 98T Bl

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=26957] Question Description : dwbv_pg_gp20_eng_2_q1l5
2[Option ID=26958]
3[Option ID=26959]
4[Option ID=26960]

Sl. No.16
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The term ‘analog media’ is primarily derived from

1. Newspaper reading

2. Audio recording

3. Computer printing

4. Multi-media production

1) 1
(2) 2
3) 3
(4) 4

AT (HEY) Hifar et JEId: Fyifed ¥ gad e :

1. HHHR G U4

2. 9o TFgidA (R@fam

3. HER 50l
4.\ (qg) Hifsar i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26961] Question Description : dwbv_pg_gp20_eng_2_q16
2[Option ID=26962]

3[Option ID=26963]
4[Option ID=26964]

Sl. No.17
QBID:20201017

Meanings in communication go beyond

1. Lexical semantics
2. Understanding
3. Knowledge

4. Internalisation

1) 1
(2) 2
3) 3
4) 4

wwor H 2rf fgifed d fHed WEEe -

1. DrEmdf @rear fava®)
2. 90

3.4

4. MBI

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26965] Question Description : dwbv_pg_gp20_eng_2_q17
2[Option ID=26966]

3[Option ID=26967]
4[Option ID=26968]
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Which of the following are the areas that have implications because of technological convergence?
A. Aggressive communication strategies

B. Communication content

C. Work of communication professionals

D. Structure of different publics

E. Structure of communication organisations

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B, C and E only

1)
(2)
(3)
(4)

A W N R

fFrafciiad ®H-4 & € fod Weliffielg HfieR & sRru R gid 82
A. STsBTHE THYU] IUIfET

B. Tityur T

C. TUS0T O &1 B

D. fafiys-oHt (afseias) @t T

E. TUYUT WG] B LA

=i feu e fadeal 5 O 98l 3R g -

1.BaAA, B AR C
2.%aqa s, C AR D
3.%ad C, DARE
4. %ad B, C ARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=26969] Question Description : dwbv_pg_gp20_eng_2_q18
2[Option ID=26970]
3[Option ID=26971]
4[Option ID=26972]
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Match List I with List Il

List | (Media Function) [List Il (Objective)

A. Surveillance I. To influence Public opinion
B. Correlation Il. Provide pleasure

C. Propaganda lll. Supply of information

D. Cultural transmission|IV. Interpretation

Choose the correct answer from the options given below:

TA-LE-ILC-1,D-1V
2ZA-IL,B-1L,C-IV,D-1
JA-NILB-IV,C-1,D-1
4A-IV,B-1,.C-1l,D-1I

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 B gt - o gafed S :

e -1 @S var) el -1l (@5

A PR |. SFTHd @I gHITdd BT
B. ggday Il. g@-UGH BT

C. 3fH-yaR 111, T BT SATYfed

D. Gipidd Uy V. SREAT

Hid feu U fadeal # 4 Ugl 3w gi-u :

TA-LB-ILC-1L,D-IV
ZA-IL,B-NL,C-IV,D-1
JA-NILB-IV,C-1,D-1
4A-IV,B-1,C-1,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26973] Question Description : dwbv_pg_gp20_eng_2_q19
2[Option ID=26974]

3[Option ID=26975]
4[Option ID=26976]

Sl. No.20
QBID:20201020

Given below are two statements:

Statement |: The semiotic approach considers communication as production and exchange of meanings.
Statement II: The process approach looks at communication as a transmission of messages.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1




2) 2
3) 3
(4) 4

R Py RUUE:

PY - | : Yhaud U ¥, U0 &I Idied SR o (312) & fafFag & &0 § aFr o s
WU - 11 - UichaT (W) SURTH SUN0 &1 o=t & U90 & 0 & AFdT 6

Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. B R 11 GFf Tel Bl
2. YT 1 R 11 GH Tad g
3. @A I TRl e, g @y 1 Ted g |
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26977] Question Description : dwbv_pg_gp20_eng_2_q20
2[Option ID=26978]

3[Option ID=26979]
4[Option ID=26980]

Sl. No.21
QBID:20201021

A man invests ¥ 5000 in a bond which gives compound interest at 4% per annum during the first year, 5% per annum
during the second year and 10% during the third year. How much amount the man will get at the end of third year.

1.3 6500
2.3 5500
3.3 5999
4.3 6006

(1)
(2)
(3)
(4)

A W N =

U oAfdd Td 918 & T 5000 BT a9 Bl & fored 94 dehgie odTel HUH I8 H 4 % JIfed ox 4, GO a4 H 5 % alid a2 9 3R
e ad 7 10% aiite o= 4 e g1 e 9y & ge1i U 39 i & fba-t i ure grii?

1.3 6500
2.3 5500
3.3 5999
4.3 6006

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26981] Question Description : dwbv_pg_gp20_eng_2_q21
2[Option ID=26982]

3[Option ID=26983]
4[Option ID=26984]

Sl. No.22
QBID:20201022




A man divides 3. 8,60,000 (8.6 lakhs) among his 5 sons, 4 daughters and 2 nephews. If each daughter receives four times as
much as each nephew and each son receives 5 times as much as each nephew, then how much does each daughter receive?

1. 80,000
2.3 50,000
3. ¥ 1,00,000
4.3 60,000

1) 1
(2) 2
3) 3
(4) 4

U oAfad < 8,60,000 (8.6 TME) T @1 A T 5 TA, 4 IEMAT SR 2 ol & did died &1 976 Td® T B T Ydol @1
T H IR IHT A U il & SR Ul U3 &I U el I 5 341 A1 U gl &, df U AT Pl fobai1 3 et

1. 80,000
2.% 50,000
3. % 1,00,000
4.3 60,000

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26985] Question Description : dwbv_pg_gp20_eng_2_q22
2[Option ID=26986]

3[Option ID=26987]
4[Option ID=26988]

Sl. No.23
QBID:20201023

Which of the following expressions has the value equal to 1 (one)?

(0.011)2
*(L1)2X (0.01)2
{0.11)2
2 (112X 0.1
(1.1)®
112X (0.01)2
{0.11)2
“112X0.01

3

1)
(2)
(3)
(4)

fgfafad 4 4 &9 ofvie &1 9F 1 (@) & 99 &7

{0.011)2
T DX (0.00)?
(0.11)2
2. (112X 0.1
(1.1)2
112X (0.01)2
(0.11)2
“112X 0.01

A W N R

3

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26989] Question Description : dwbv_pg_gp20_eng_2_q23
2[Option ID=26990]

3[Option ID=26991]
4[Option ID=26992]

Sl. No.24
QBID:20201024

If in a certain coding language ‘Fraction’ is Coded as "Carfnoit” and 'System’ is coded as "Sysmet’, then in that Coding
language how ‘material’ will be coded?

1. "eltaaimr’
2. 'lairetam’
3. ‘etamlair’
4. 'etalmair’

1) 1
) 2
(3) 3
(4) 4

i fbd B¢ UM H *fraction’ B "carfnoit’ AR system’ Bl sysmet’ & ©U H Dedg [l Sl 8, ol Sad de HIN H 'material’
@I HY peas [l Sw?

1. eltaaimr
2. lairetam
3. etamlair
4, etalmair

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26993] Question Description : dwbv_pg_gp20_eng_2_q24
2[Option ID=26994]

3[Option ID=26995]
4[Option ID=26996]

Sl. No.25
QBID:20201025

What number should replace question mark (?) in the series given below:
51,153,765, 229.5, 114.75, 344.25, 7

1.172.125
2.1032.75
3.516.375
4. 2581875

1) 1
(2) 2
(3) 3
(4) 4




FufciRaa i@ ¥ fow e & uydras [0 (7) & UiaRiiid &1 aige?
51, 153, 76.5, 229.5, 114.75, 344.25, 7

1.172.125
2.1032.75
3.516.375
4, 258.1875

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26997] Question Description : dwbv_pg_gp20_eng_2_q25
2[Option ID=26998]

3[Option ID=26999]
4[Option ID=27000]

Sl. No.26
QBID:20201026

The following statement is an example of which logical fallacy- “Elephants live in tropical climates where there is plenty of
vegetation. So we probably would not see any at the Chicago zoo.”

1. Red herring

2. Hasty generalization
3. Fallacy of accident
4. Appeal to authority

(1) 1
) 2
3) 3
(4) 4

Fafefad &y U UPR & dhaly @ Ue 3aeU & - “erft Suidmicatdiy Saarg & i 9id € a9ifd agf aafd (@s-uieh) 3
TRl & | §udaa: 39T &1 e ffsarR & 313 off grh 78t < una-

1.3 'R

2. el e
3. ST dhaN

4. UMD R {98

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27001] Question Description : dwbv_pg_gp20_eng_2_q26
2[Option ID=27002]

3[Option ID=27003]
4[Option ID=27004]

Sl. No.27
QBID:20201027

Which of the following statements is logically equivalent to the statement — “No frogs are mammals”?

1. No mammals are frogs.

2. All non-mammals are non-frogs.

3. Some non-mammals are not non-frogs.
4. Some mammals are non-frogs.




1) 1
(2) 2
(3) 3
(4) 4

fafaiad o 9 -9 &Y difb® €4 4 39 Y- "By o Hed WU Tl - @ 99dd o7

1. @iy ot TR Hed el g

2. guff IR, IR-He@ |

3. B9 IR-WHUR, R-Hew T8 51
4. TS WUl R-HAcH B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27005] Question Description : dwbv_pg_gp20_eng_2_q27
2[Option ID=27006]

3[Option ID=27007]
4[Option ID=27008]

Sl. No.28
QBID:20201028

If the proposition- 'Some frogs are not mammals.’ is given as false, then which of the following propositions can be
immediately inferred to be false?

1. Some frogs are mammals.
2. All non-frogs are mammals.
3. No frogs are mammals.

4. All frogs are mammals.

(1) 1
() 2
3) 3
(4) 4

I faed- P e WU el old & | 390 & &4 | &1 741 & dl Hafdad 3 9 @H-4 nfagidd of daia® €99
HYA B & w4 H a1 a1 o bl 67

1. 99 Hed WU Bid g

2. qufi IR-Hew WU gid 81

3. ®IE i Hed Tur T8 BT gl
4. qiff Hed WU BId €1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27009] Question Description : dwbv_pg_gp20_eng_2_q28
2[Option ID=27010]

3[Option ID=27011]
4[Option ID=27012]

Sl. No.29
QBID:20201029




Which of the following propositions are so related that they cannot both be false although they may both be true?
A. All tigers are man-eaters.

B. Some tigers are man-eaters.

C. Some tigers are not man-eaters.

D. No tigers are man-eaters.

Choose the correct answer from the options given below:

1.B and C only
2.Cand D only
3.Aand D only
4. A and C only

(1)
(2)
(3)
(4)

A W N R

Frafafad -4 ufagitadl 59 UeR U U6idd ¢ [ d oAl oid el 8! 9dd! 99U d Gl 9 o 9ddl @ ?
A. Tt are Rl B

B. T 1Y R-H&fl &1

C. % a9 R-Hall ol 5|

D. @3 off g TR-veft T2t B

i feu U famel § 9 98 S A -

1. Had B AR C
2.%ad C 3R D
3. Had A 3R D
4. HIAA AR C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27013] Question Description : dwbv_pg_gp20_eng_2_q29
2[Option ID=27014]
3[Option ID=27015]
4[Option ID=27016]

Sl. No.30
QBID:20201030

Which of the following argument is an example of the fallacy of Vyapyatvasiddha according to Nyaya (classical Indian
school of Logic)?

1. Sound is quality because it is visible.
2. Sound is eternal, because it is audible.
3. Fire is cold because it is a substance.
4. Wherever there is fire, there is smoke.

1) 1
(2) 2
3) 3




(4) 4

A (YR MR dH9RE-0d) & R Fafafaa d oF auafas ad o & U6 3aeU 8?

1. @1 Tah 70T § s O e el 21
2. & T & i 78 Yy Bidt B

3. 3T G381 & T I8 TP 5o Bid B

4. Sgi-ogl Wi 3R §, 9gi-del Y3il gl

1)
(2)
(3)
(4)

A W N R

1[Option ID=27017] Question Description : dwbv_pg_gp20_eng_2_q30
2[Option ID=27018]
3[Option ID=27019]
4[Option ID=27020]

Sl. No.31
QBID:20201031

In MS-EXCEL, Cell B9 contains the value 3, and B10 contains the value 6. You select both the cells and drag the fill handle
down to B13. The contents of the cell B11, B12, and B13 will be

1.3,6,3
2.7,89
3.9,12,15
4.6,6,6

1)
(2)
(3)
(4)

A W N R

THUY - TEa |, 89 9a &1 M 3 €, 3R 810 a0 &1 0 6 &1 1T GHI Jail &I 99 Bid & AR hd 650 @I -1d B13 TP
Wiad gU T od 8| Yd B11, B12 3R B13 B Sfdded ——-- 8F1l :

1.3,6,3
2.7,89
3.9,12,15
4.6,6,6

1)
(2)
(3)
(4)

A W N R

1[Option ID=27021] Question Description : dwbv_pg_gp20_eng_2_q31
2[Option ID=27022]
3[Option ID=27023]
4[Option ID=27024]

Sl. No.32
QBID:20201032

What is the component of Web 3.0 that describes things in a way that computers can understand?

1. Social tagging
2. Sustaining web
3. Social web

4. Semantic web




(1) 1
(2) 2
(3) 3
(4) 4

39 3.0 D1 ¢ 9P DH Tl & ol gioll &I 39 HBR ° aiord $dl & (o fored HrgeX 99 9adl 67

1. AT Sid (WIRTd ¢him)
2. HYR® (@M 39
3. YIS (|iee) 99
4. 3fig (@af=®) 39

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27025] Question Description : dwbv_pg_gp20_eng_2_q32
2[Option ID=27026]

3[Option ID=27027]
4[Option ID=27028]

Sl. No.33
QBID:20201033

Given below are two statements about internal/external computer memory:

Statement I: A portable hard drive is an example of internal memory.

Statement II: Magnetic tape is used to store backups of data.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4

i sffaR@ / IR SR Fid d YeH Ha dH el /g

HYT - |- TS BT Igd HdRD Fid BT TP IS ¢

DY - 1| : TP 20 &1 WaNT STel-Yfdar (d3id) i Tiad B3 & oL fbar gl
Iudad Syl & die | Fafafad faeedl 4 9 g Sav g -

1. ®Y | 3R 11 SHT 9ET §
2. %Y | AR 11 G T &
3. 9Y 1 TSI g, fg Py 1 TTad B |
4. Y1 TTAd &, fb=g By 11 98T B

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=27029] Question Description : dwbv_pg_gp20_eng_2_q33
2[Option ID=27030]




3[Option ID=27031]
4[Option ID=27032]

Sl. No.34
QBID:20201034

Which of the following statements are TRUE?

A. A standard format for compressed video files is MPEG.

B. .WAV files are not compressed.

C. A compressed file will be transmitted faster over a network.
Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4. A BandC

1)
(2)
(3)
(4)

A W N R

Fafaiad 5 4 @H d oy 981 &7

A. Uifsq difsal wigdl & fou 9@ Bie uq 0 § off (MPEG) 81
B. &g U dl (WAV) BISd Guifed 81 el B

C. ®is 4difsd wigd fdl Acad W sifie digar 4 uftd gifi
- feu U fameal § 9 9 SR A -

1. Bad A AR B
2. PAAAIARC
3. Had B AR C
4.7 B3RC

1)
(2)
(3)
(4)

A W N =

1[Option ID=27033] Question Description : dwbv_pg_gp20_eng_2_q34
2[Option ID=27034]
3[Option ID=27035]
4[Option ID=27036]

Sl. No.35
QBID:20201035




Match List I with List Il

List | (Feature of email software)

List Il (Description)

A. Carbon copy

. Allows you to add personal data to the email.

B. Email signature

II. Allows you to send the same email to more than one person at once.

C. Address book

1. Allows you to send a photograph with your email.

D. File attachment

IV. Allows you to store contact details.

1)
(2)
(3)
(4)

TA-LE-ILC-1V,D-1l
2ZA-ILB-LC-IV,D-1I
3JA-ILB-IV,C-1,D-1I
4A-NILB-1,C-IV,D-1

A W N R

Choose the correct answer from the options given below:

Tt -1 B gt - o gafed S :

1)
(2)
(3)
(4)

1[Option ID=27037]
2[Option ID=27038]
3[Option ID=27039]
4[Option ID=27040]

Tt -1 (5 T TR Pt i @
A, BTE BT 1. AT SHT IR AfGdTd STel SIS &dl &
II. 39®| TP 9 H THID Afead @l ol
B. 300 R ENEENEL
111, 3T9@! IS sHd & 91 UH BIeHD
CTHTP 2 E
D. BI3d JHeahi< Iv. 3ATUH] WU [Gaur dfed &3 ¢l g
i feu U fadeal o © Uel SR gHU :

TA-LB-ILC-1IV,D-1l
2ZA-ILB-1,C-IV,.D-1I
A-ILB-IV,C-1,D-1
4A-NLB-1L,C-IV,D-1

A W N R

Question Description : dwbv_pg_gp20_eng_2_q35

Sl. No.36
QBID:20201036

1. Agenda 30

Sustainable Development Goals (SDGs) are also known as

2. Agenda 35
3. Agenda 17
4. Agenda 10

1) 1
) 2
3) 3




(4) 4

Hyruftg famra aeaf @y, 3. o) & 59 370 w9 F oft 991 91 82

1. TalST (@RI - 30
2.Tol3T - 35
3. TSiaT - 17
4. TS13T - 10

1)
(2)
(3)
(4)

A W N =

1[Option ID=27041] Question Description : dwbv_pg_gp20_eng_2_q36
2[Option ID=27042]
3[Option ID=27043]
4[Option ID=27044]

Sl. No.37
QBID:20201037

Given below are two statements:
Statement I: Most soils are stratified into horizontal layers called as scil profile.
Statement II: A cross sectional view of the harizons in a soil is called as soil horizon.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N R

AR d e RumeE:

B - |- B HaTd Ao ol # Wiidd gl & ol gal URSeH (MwbT5a) Hel ol
HY - 11 JaT H TERT BT S0 uR=fad e ger TR dgad g

B T

1. @Y | 3R 11 ST W1 1
2. B 1 AR 11 ST TTAd & |
3. PYT I TEI €, g YT 11 TTeieT € |
4. BY 1T &, g dYE 1 T8l B

1)
(2)
(3)
(4)

A W N R

1[Option ID=27045] Question Description : dwbv_pg_gp20_eng_2_q37
2[Option ID=27046]
3[Option ID=27047]
4[Option ID=27048]

Sl. No.38
QBID:20201038




A general term for downhill slides of earth is known as?

1. Mass wasting
2. Earth wasting
3. Mud wasting
4. Hill wasting

1) 1
(2) 2
3) 3
(4) 4

gl & IR T (SISHied WIS SY) 8 Wdd 9HH UG o] hedldl 87

1. 954 &RUI
2. ged &R
3. U@ &R0

4. UTS! &RUT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27049] Question Description : dwbv_pg_gp20_eng_2_q38
2[Option ID=27050]

3[Option ID=27051]
4[Option ID=27052]

Sl. No.39
QBID:20201039

Given below are two statements:

Statement I: Allergens are substances that activate the immune system.

Statement II: Concentration of allergens in indoor environment can be thousand times higher than in the air outside.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4




EIEFCAE A

HY - | : U d %00 & ol Ui 3 & 9fehd &d &

T - 11 : ATRD TG0 H FeguiH! &I YFE01 dTe<] gdl ¥ 59k H S=R of Ubdl g
Sugad Byl b Srdie H FufaRad fabedl § 9 g gae g :

1. BYA 1 3R 11 §HI GET &)
2. %Y | AR 11 ST A &
3. DY I HEI 8, g YT 11 T © |
4. Y| TAd &, fog dYE 1 TT B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27053] Question Description : dwbv_pg_gp20_eng_2_q39
2[Option ID=27054]

3[Option ID=27055]
4[Option ID=27056]

Sl. No.40
QBID:20201040

Which of the following Volatile Organic Compound (VOC), a kind of air pollutant, is emitted from natural sources such as
plants, bogs etc.?

1. Formaldehyde
2. Benzene
3. Terpene
4. Toluene

OR!
(2) 2
3) 3
(4) 4

Fofaiad 9 ugue! & U6 TR, SRR dEi-e diffte @ of @) 7 8 &F 91 el Toeal e Sid Uafde gareH 9
Jeafeid gid1 87

1. PS8R S
2. §T
3. 20

4. T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27057] Question Description : dwbv_pg_gp20_eng_2_q40
2[Option ID=27058]

3[Option ID=27059]
4[Option ID=27060]

Sl. No.41
QBID:20201041




The main objective of the Fourth Five-year plan was to

1. Improve the standards of teacher education

2. Establish sports colleges in universities

3. Set up international culture centres in select universities

4. Control the university system in India with limited academic freedom

1) 1
(2) 2
3) 3
(4) 4

Ty daada T ST g5 35Rg T A

1. TR1&id T8 & AHDI H GUR T

2. fasfaeyeral # W AgTaeeral o @G- BT

3. gifar fayfRrert # SiRi¥ia SRPiae dwsl B R BT

4. HRA H YifHd fblaiid wWdadl & 9 fayfdeed o & FRifa &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27061] Question Description : dwbv_pg_gp20_eng_2_q41
2[Option ID=27062]

3[Option ID=27063]
4[Option ID=27064]

Sl. No.42
QBID:20201042

Which of the following were the functions of National Council for Women's Education in India?
A. To encourage Women's movements in the world

B. To advise the Union government on issues related to Women’s education

C. To involve voluntary organizations in Women's education

D. To periodically evaluate the progress of Women's education

E. Discourage seminars and surveys that affect Women's education in India

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4. A, D and E only

(1) 1
(2) 2
(3) 3
(4) 4




YRA H APy Afea R uRkug & Hafiied J 4 o 9 o U

A. fasy % Afgansll & siiciaHl & WidreH o

B. Afgareit @ fi&m ¥ Taftd J5] R Y9-IROR @ GaTg ol

c. Tifeael &1 fRian ¥ Wies® Wiet &f Sfed &e

D. Afgerrafl @ g1 &1 WIfd &1 fafie ©U 3 e Hel

E. 31 [@aR TNl SR wdeivll & galdiied o1, Sl HRd # #Afgca &1 e & uHifad dd g
Feffr e A A T S

1. Bad A, B AR C
2.%ad B, C AR D
3.%ddC, DARE
4. PHddA DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27065] Question Description : dwbv_pg_gp20_eng_2_q42
2[Option ID=27066]

3[Option ID=27067]
4[Option ID=27068]

Sl. No.43
QBID:20201043

Which of the following are the goals of Student Induction Programme (SIP) initiated by UGC in institutions of higher
Learning?

A. Inculcate the emotional or intellectual energy and values of Higher Education Institution (HEI)

B. Improvement of infrastructure in premier institutions of the country

C. Develop the inherent competences and kindle a positive attitude in the new entrants of higher education
D. Cultivate a sense of intimacy and an awareness of privileges and responsibilities

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and Conly
3.B, Cand D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




g ofl. . gR1 IedcR HIeTH Tyl § YR®Y foog 7Te faenedl udw srises (w9, 3s. Ul) & FufdRad ¥ U oY deg 82
A. W FRIET YRIH BT HIGIHS d1 dllsd Sl Ud Heldl &1 79 H S3HI

B. GXT & Ui RN W=yl F Sradamn o guR I

C. [fga emdietl ®f fabfid B! 3R I=dcR & & U Ya=d! H U YbRIAD SHHgRI Uaidd Bl

D. TRl B HIgHT 3R GRUReRI td Juiaiiial el SrRedal 1 Ui @1

i< feu 7Tu fa@eal 5 § 98l 3w 9 -

1.Hdd A, CIHRD
2.%ad A 3R C
3. %dd B, C 3R D
4.%aq B AR D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27069] Question Description : dwbv_pg_gp20_eng_2_q43
2[Option ID=27070]

3[Option ID=27071]
4[Option ID=27072]

Sl. No.44
QBID:20201044

Which of the following educational Institution was raised into a university in May, 1958 and was established in 1911 owing
its inception to the princely donations of the Tata family?

1. The Indian Institute of Technology, Kanpur
2. Tata Institute of Fundamental Research

3. The Indian Institute of Science, Bangalore
4. The Indian Institute of Technology, Bombay

1) 1
(2) 2
(3) 3
(4) 4

Frgfafad 4 9 &g [an 9uE & 143, 1958 § U faufdene 4 Ianfud famar mar 3R f5g 3Ry 4 2el URaR & SR GH &
RO IY 1911 T w1t foman mar o1 2

1. YRdG RIS GRF, FAR

2. AT HIER Hd U R (C1e] SReaye 3t heH=<d 4q)
3. YR fag S8, dTaR

4. YRAM™ URIfS! 4H, §65

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27073] Question Description : dwbv_pg_gp20_eng_2_q44
2[Option ID=27074]

3[Option ID=27075]
4[Option ID=27076]

Sl. No.45
QBID:20201045




Which of the following universities developed in connection with the viharas during ancient period in India?
A. Nalanda

B. Navadeep

C. Odantapuri

D. Kanchi

Choose the correct answer from the options given below:

1.B, Cand D only
2.B and D only
3. A and C only
4. A B and C only

1) 1
(2) 2
(3) 3
(4) 4

HRA H UH ®1d & oRH Hafciad § 3 oF ¥ fayfdac faeri & 9y @6y & ®u H fdalid gu
A. Tciel
B. @5

C. A
D. @il
i feu U fadeul H 9 Ul 3w g

1.®%ad B, C AR D
2.%ad B 3R D
3. HAAA 3R C
4.Had A, B3R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27077] Question Description : dwbv_pg_gp20_eng_2_q45
2[Option ID=27078]

3[Option ID=27079]
4[Option ID=27080]

Sl. No.46
QBID:20201046




Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘'we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

frafafEa e o) ufey ok Uy & I e

e W BT &1 &did ol fd 1876 & Ja¥d H HRHR & Uid S931 BT & BRI HRAG YH & At Hde Ugd
a1 4T, Y 1882 H TR B T4 |ifd HBIHEE A 59 YYFT W 30 TP GUad I50° & F9 F gl [l Jefl HRd WeR A
39 T4 &1 dabTd Ge o, foaa § oiR 39% IRT 3R $fid T wfeq syma! 4 f&far ik 9¢ i R ¥ 79 =ifia
Yeile A dl GRaR W G0 & YbT 3R A g1 6 HRAY WHR gl aul AR & SHid - R FU=0 S gl |

gy 1885 & Udles dae 4 4l Iv ufEw GiHid &7 @1 GR&/T o UG UeYy &3 Si A[axaddl & Yay H fafew 391 & faar &=
$fgd B & Gerar el | oG 98 dad Sar e o1 f% a¥ 1885 § & Giell fiRF 18 o-d aiRard f3U¢1 S8y Rel ok
H1E 5501 & g | Mafiie qun foerd gid gu fig o3 & <fém &1 yfft o1 Tdarr S3 aul g1 9t giaq a1 ueR & @ik
< T & Aq@ T Udat oA & [ Oe T 41 33 g fARIaaitSl s & fiafie au fiEd 9@ sel 9 & d9y
H &1 giAfd 3 AWl &f SWRA A siHiiGd fbar 411 98 HHiS - 31 - diK, Uh ey 4 g Hi g 1 & g+ faad aur
fiafite & °aRT iR A <= W IAeHIae FHF0 &A1 8RN diid GRT &3 gRI1 [iAd ddb @1 Ugd oYl dReH gR1 RIaiTe db ol

Ugd giHiSd & o 9|

Who was entrusted with the responsibility to survey the Chinese Turkestan?

1. Col. Lockhart
2. Ney Elias

3. Dufferin

4. F. Roberts

(1) 1
) 2
3) 3
(4) 4

fore oafe o JiHi Jibwi & Tdeil & fsmieRl 9idi 78 iz

1. B dibare

2.4 oo
3. 8HIA

4, UG @y

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=27081] Question Description : dwbv_pg_gp20_eng_2_q46
2[Option ID=27082]
3[Option ID=27083]
4[Option ID=27084]

Sl. No.47
QBID:20201047

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

Frafafay e 1 e ofk uy & 3w difem|

e W B &1 gard ol i 1876 & It H =R & Uld 39! F8T & SR HRAE YH & At Hdbe ugd
T 4T, Y 1882 H MR B 1 Fifdy ABIHEE A 58 YHAT U Y- U W& I50° & F9 H glal [l el HRd WROR
39 G4 &1 dabld Gs e, fEa o ofR 39% IR! &R i ©4 wfeq syma! 4 fHar 9k 98 7 R ¥ 79 wifia
eilee A df &RaR | g0 & 91 iR 7 81 #8few HRAg TR g1 auT AR & Si=1id TaSa &R FaE0 $2 9@t

qu 1885 B Uolog Ude o Hi 3R UIHH UiHid &7 $1 Y& 5d IUD UaY S & Aa3gbdl & Y9 H {6fe= U1 & faar @
digd S 1 "gradr el | 3ia: I8 dvacl ST -1gl o1 i ay 1885 H gl Wioll [H2H Ush d-id diRale [SYEl H1e} AR oiRd
HI% 3f5a1 & -iged H Fafie qur fEd gid gu f6g $- & Gléiv & Y BT Yd&ivr - oyl gERT di-iT didesd= oyl Uik &1 3R
S UfeRITY & -iged § Hd&r B & fore Hol 1 4| 341 /i fFR-Uaaits s @l e au Ed 9o 96l 9H & 48y
¥ 3&T g ot RIwRE! & Wi 3 srHifed fhar 4Tl 78 $HST - 37 - 9%, % J9<d 1 I Hi ga & fos 59 foma au
e & 9RT R A X W IoHae G0 ST 811 diid GRT &3 &R1 foAd dd @1 Ugd a4l ae- gRT R 9@ o1

Ugd GiHiEd &1 o 9o |

The areas in and around Chitral witnessed conflicting claims from
A. Afghans

B. Russians

C. British

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.A BandC

1 1
(2) 2
3) 3
(4) 4




el & 9RT 3R Ry &5 7 fbw 21 & e f&Ridi ord < ol fel?
A. MBI

B.¥H

c. fere

i< feu U fadeal 4 4 98 I g -

1. Bad A AR B
2.%aaB AR C
3. PAAAIRC
4.7 B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27085] Question Description : dwbv_pg_gp20_eng_2_q47
2[Option ID=27086]

3[Option ID=27087]
4[Option ID=27088]

Sl. No.48
QBID:20201048

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed sericusness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

FrafafEa e &1 ufde ofk uy & I S|

e W BT &1 &a| ol {1876 & ¥t & HRAR & Uid S91 B & BRI HRAG TE & At Hde Tgd
T AT, 94 1882 H TR B 1 il B A 39 YHAT IR 30 T Y& I & T § rdl {61 Il HRd WHR
39 G4 &1 dbld We b, fiEa § 8iR 39% IRT 3R fid &4 wfea syFe! 4 fHar iR 9g i R ¥ 79 wuifig
Yolle-e 9 dl GRaR W FEFu 6 I@T 3R A g f6fe= HRA™ WER g1l auT AFR & =i Thdhd W HEF0 & 91|

ay 1885 & Uolsg dbe ¥ Hi 3R UiHH IHid & 31 GR&1 o HIUS Hae B &1 Aaxgdhdl & Jay H 6o 441 @ faar &=
$f5d T o gerdl el | oia: T8 dad T4 el o1 {6 a9 1885 § &l Wioll [H=H U6 B-d dRale [8ge] ®el AR orikd
A1 3151 & g | FIaRIE Y1 Fhid Bid §U fég DX & Ciail &1 4 BT Y& S Ul GERT IH1 Gibwi a4l UHR 3 3R
S UIeRITY o Higed H Hd&ur dA @ feie Hel 71 41 331 |l fFRIadltst s &l Falie au1 Ed 9b 9 9H & d6y
H Y& GiAfd @ RAwiRal @ SwiA A sHifGd foar 411 98 HHisR - 31 - ik, Wh ey - 9 i gaird 61 & g+ foma aur
e & 9RT SR Yd ;1 IR AoFiae g0 &A1 811 difds GRT &3 gR1 A dd @1 Ugd al aRg- gRT FIAiie ad &l

Ugd GiiEd & o 9 |




Given below are two statements:

Statement |: Approach to Chitral was through Wakhan.

Statement |I: Lands situated south of the Hindu Kush could be approached via Chitral and Gilgit

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

R Py RUUE:

PY - | - T 96 Ugd IrEd grRI 4l

@Y - 11 : g D & Gla Ry YA ad e qun Mafiie gR1 Ugdr o Y 4l
Iuad Bl S 3rrciie | Faftiiad fdeddl J 4 98l S g

1. @Y1 AR 11 GFf TR Bl
2. YA | AR 11 &HT TTad B
3.7 I TRl e, g sy 1 TEd g |
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=27089] Question Description : dwbv_pg_gp20_eng_2_q48
2[Option ID=27090]
3[Option ID=27091]
4[Option ID=27092]

Sl. No.49
QBID:20201049




Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘'we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

FrafafEa T $1 ufde ok uy & I Sl

e W B &1 di[d ol fd 1876 & Javd H &=HR & Uid $9@1 BT & SR 4RI 9 & A8 Ade ugd
a1 4T, Y 1882 H TR B T4 |ifd HBIHEE A 59 YYFT W 30 TP GUad I50° & F9 F gl [l Jefl HRd WeR A
39 T4 &1 dabTd Ge o, foaa § oiR 39% IRT 3R $fid T wfeq syma! 4 f&far ik 9¢ i R ¥ 79 =ifia
Yeile A dl GRaR W G0 & YbT 3R A g1 6 HRAY WHR gl aul AR & SHid - R FU=0 S gl |

gy 1885 & Udles dae 4 4l Iv ufEw GiHid &7 @1 GR&/T o UG UeYy &3 Si A[axaddl & Yay H fafew 391 & faar &=
$fgd B o Termal el | o 98 dad Sar el o1 f& a¥ 1885 T & @iell fiRF ta o-d diRard (3581 S8y Rel ok
A5 3501 & g | Mafie qun fod gid gU g o3 & <fé &1 4 o1 Tdarr &3 aul gaRT 91 gibaq a1 uHR @ ¢k
S UfeR & Aga § A& $3- & o Uol T 41 39§ fFRIaatel de-ie @f fafie 991 fEd 9@ 9ed 9H & 98y
H &1 giAfd 3 AWl &f SWRA A siHiiGd fbar 411 98 HHiS - 31 - diK, Uh ey 4 g Hi g 1 & g+ faad aur
fiafite & °aRT iR A <= W IAeHIae FHF0 &A1 8RN diid GRT &3 gRI1 [iAd ddb @1 Ugd oYl dReH gR1 RIaiTe db ol
Ugd giHiSd & o 9|

The British were finding it challenging to control

A. Chitral

B. Hunza

C. Nagar

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4. A BandC

(1) 1
(2) 2
3) 3
(4) 4




FufeiRad o 9 oy Fafa o 5 St & gHIfadl &1 QAT B US 38T 41 ?
A feFd

B.Bull

C. R

i< feu e fadeal 5 4 98 I g -

1. Bad A AR B
2. ®aae AR C
3. Haqd AR C
4.7 B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27093] Question Description : dwbv_pg_gp20_eng_2_q49
2[Option ID=27094]

3[Option ID=27095]
4[Option ID=27096]

Sl. No.50
QBID:20201050

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Caol.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

Frrafafaa e 1 ufde ofk uy & I S|

ol R SGMHAEH 31 &a| < {6 1876 & Iwd d R & wfd 3U@! [ $ SR YR IHT & J@fis Fde ugd
1 4T, Y 1882 H MR B -1 il BRI A 59 YR W 34+ U W& I & &Y H gral {61 il HRd TWROR
39 Q9 @ dabTd Ws o, fiaa o 9iR 39% IRT 3R fdd ©4 wfea syFe! 4 f&ar iR 98 i iR ¥ 79 wifig
Yolle=e 9 d GRaR W FEF0 6 9T 3R A g f6fewr YRd™ GRaR g-o1 9T AFR & $H2id Thdhd W HEF0 6 91|

Iy 1885 B Uolog dme o Hi IR UfHH dHid &7 31 Q&M 3 UG TaY B 1 Aaxgdbdl & gay H fafew ¥ & faar &=
&fsd o o Gerdl el | 31a: T8 dad T4 el o1 i a9 1885 H &l Wioll (=M Ud d-d dRale [8ge] ®el AR orikd
HI% 351 & g H Ficiiie qur A gid gu [6g B & qléi o Y &1 Gdaiur - 0yl gaRT -1 dicsa ol Uik &1 iR
S UfeRIT o Higed § Hd&Ur B @ foie 1ol T 41 341 i JFRIadits! @S @l Fafie 9y Ed 9e 96 9H & dey
H &1 giAfd @ Rawial @ SwiA A siHifGd faan 411 93 HHiSR - 31 - ik, Wh Iy - 9 i g 61 & g+ fama aun
e & 9RI SR Y S/ R AoHiad a0 &A1 81T difds GRT &3 gR1 foid dd @1 Ugd ayl ae- gRT Fidfie 9 i

Ugd GiHiEd &1 o 9 |




Arrange the following events in correct chronological order:
A. Afghans claiming Chitral as its protected state

B. Panjdeh Crisis

C. Allegiance of Chitral to Kashmir

Choose the correct answer from the options given below:

1.A B C
2.B,CA
3.CAB
4.C, B A

1)
(2)
(3)
(4)

A W N =

frafdRad TeTrst B! el BIahHTHR adiyd Biford
A. SBIT-RAH B e W U s & w0 J gl
B. Ulsg Hae

C. HIHR & Uil fepra @t (@1

i<l few e fadeal # 9 9l SR 94 -

1.A B C
2.B,C A
3.CAB
4.C, B A

1)
(2)
(3)
(4)

A W N R

1[Option ID=27097] Question Description : dwbv_pg_gp20_eng_2_q50
2[Option ID=27098]
3[Option ID=27099]
4[Option ID=27100]

Paper II : 6-History

Sl. No.1
QBID:6001

Alara, the great teacher of the Buddha belonged to which tribe?

1. Bhagga of Sumsumaragiri
2. Kalamas of Kesaputta

3. Mallas of Pava

4. Mallas of Kusinara

1) 1
) 2
(3) 3




(4) 4
T 96 o WIS [&@ (%) AR FafcRad o 9 fog 1o ¥ defid 42

1. QRHR R @ o
2. HYYd & BAH

3. a1 & A

4. PRI & Aol

(1)
(2)
(3)
(4)

A W N =

1[Option ID=27101] Question Description : dwbv_pg_his_eng_2_q1
2[Option ID=27102]
3[Option ID=27103]
4[Option ID=27104]

Sl. No.2
QBID:6002

Which philosopher of India propounded the philosophy of Vishishtadvaita?

1. Madhvacharya
2. Shankaracharya
3. Mandana Mishra
4. Ramanujacharya

1)
(2)
(3)
(4)

URd & 9 grifA® - fafRmrad & g9 &1 ufaure fear

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=27105] Question Description : dwbv_pg_his_eng_2_q2
2[Option ID=27106]
3[Option ID=27107]
4[Option ID=27108]

Sl. No.3
QBID:6003

The critical edition of the Mahabharata project was led as General Editor by:

1. R. N. Dandekar
2. 5. Radhakrishnan
3. V. S. Sukthankar
4. R. C. Majumdar

1 1
) 2
3) 3




(4) 4

HETHRd URae-l (Uieiae) & SHaa-TEE Gl Fgfafad & 1, feas Uy 9ueed § gefed fear T ur

1. 3R, T GIUSdR
2. 09, YTPWHE

3. 1. 7Y, g
4. ¥R, 4l AgHER

(1)
(2)
(3)
(4)

A W N =

1[Option ID=27109] Question Description : dwbv_pg_his_eng_2_q3
2[Option ID=27110]
3[Option ID=27111]
4[Option ID=27112]

Sl. No.4
QBID:6004

Gandaraditya was a

1. Vaisnava saint of South India

2. Buddhist teacher

3. Temple architect of the Chola dynasty
4. Chola king

1)
(2)
(3)
(4)

A W N =

TS BH Y -

1. GI&T YA & dW1d 4d

2. 9 SUCTH

3. IS o199 B 3 T
4. 91 IMGD

1)
(2)
(3)
(4)

A W N R

1[Option ID=27113] Question Description : dwbv_pg_his_eng_2_q4
2[Option ID=27114]
3[Option ID=27115]
4[Option ID=27116]

Sl. No.5
QBID:6005

Which one of these is NOT a Jain text?

1. Nisttha Satra

2. Tattvarthadhigama Sdtra
3. Abhidhana - Chintamani
4. Yamaka

1)
(2)
(3)
(4)

A W N R




Fgfeiad # ¥ ®H-91 Us o 94 81 52
1. [y 5=
2. danifrE g

3. SFIeH- =
4. 70%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27117] Question Description : dwbv_pg_his_eng_2_q5
2[Option ID=27118]

3[Option ID=27119]
4[Option ID=27120]

Sl. No.6
QBID:6006

Who was the founder of Kardamaka dynasty?

1. Chashtana

2. Rudradaman

3. Mahakshatrapa
4. Damajadasri

1) 1
(2) 2
3) 3
(4) 4

FIGHD 39 BT TS DH UT?

1. 99d
2.°%aGHA
3. Hel&HAu
4. g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27121] Question Description : dwbv_pg_his_eng_2_q6
2[Option ID=27122]

3[Option ID=27123]
4[Option ID=27124]

Sl. No.7
QBID:6007

linaprabhasuri in his Vividtirthakalpa include a section on the holy city of

1. Kanchipuram
2. Varanasi
3. Mathura
4. Ayodhya

1) 1
(2) 2
3) 3
(4) 4




formvrgR grIfEd fafqudides | Fafaiad 4 9 fou ufas el & sR § Us @vs & i fear g

1. DIHIGRH
2. GO

3. A
4. 3T

1)
(2)
(3)
(4)

A W N R

1[Option ID=27125] Question Description : dwbv_pg_his_eng_2_q7
2[Option ID=27126]
3[Option ID=27127]
4[Option ID=27128]

Sl. No.8
QBID:6008

King Para is associated with kingdom of

1. Kosala
2. Kasi

3. Malla

4. Kamboja

1)
(2)
(3)
(4)

A W N R

e oY FAafaiaa # e Te © gefia g7

1. @A
2. BRIl

3. 7o
4, Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=27129] Question Description : dwbv_pg_his_eng_2_q8
2[Option ID=27130]
3[Option ID=27131]
4[Option ID=27132]

Sl. No.9
QBID:6009

Copy of which Asokan Rock Edict is found engraved on a bowl?

1. 13" Major Rock Edict
2. 7 Major Rock Edict
3. 8t Major Rock Edict
4. 11 Major Rock Edict

1) 1
) 2
(3) 3




(4) 4

e® & FefaRed | ¥ 59 e @1 ufd @10) 0@ dek W Il uil 741 &

1.13 91 g1 Rarea
2.7 9 € Raca
3. 8 91 &Y Rracra
4,11 @i €Y R

1)
(2)
(3)
(4)

A W N R

1[Option ID=27133] Question Description : dwbv_pg_his_eng_2_q9
2[Option ID=27134]
3[Option ID=27135]
4[Option ID=27136]

Sl. No.10
QBID:6010

Name the Buddhist text that shows caste was NOT rigidly tied to a craft:

1. Suttavibhanga

2. Chullavagga

3. Kathavattu

4, Dasa-Brahmana-Jataka

(1)
(2)
(3)
(4)

A W N R

39 T 9y ©T 91 Fa13U o U8 Gidl § & oifd, Bed ¥ SFaadd (o) § 98w ol Ul-

1. gArfgHT

2. geEai

3. BYIa

4. TH-FTEU-STad

1)
(2)
(3)
(4)

A W N R

1[Option ID=27137] Question Description : dwbv_pg_his_eng_2_q10
2[Option ID=27138]
3[Option ID=27139]
4[Option ID=27140]

Sl. No.11
QBID:6011

Who wrote the book Chatuhsatika?

1. Aryadeva
2. Nagarjuna
3. Asvaghosha
4. Asanga

1 1




) 2
3) 3
(4) 4

PP THS Uy (YEam) fbu- forar g7

1. ¥Hfea
2. ARTGA
3. YN

4. 3

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27145] Question Description : dwbv_pg_his_eng_2_q1l1
2[Option ID=27146]

3[Option ID=27147]
4[Option ID=27148]

Sl. No.12
QBID:6012

The Hathnora specimen belongs to

1. Homo Habilis
2. Homo Sapiens
3. Neanderthals
4. Homo Erectus

1) 1
(2) 2
3) 3
(4) 4

YR UfaEy gt fead dafia 82

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27149] Question Description : dwbv_pg_his_eng_2_q12
2[Option ID=27150]

3[Option ID=27151]
4[Option ID=27152]

Sl. No.13
QBID:6013

The Archeological site of Uttarbaini which yielded early paleolithic artefacts is located in

1. Jammu

2. Uttarakhand

3. Himachal Pradesh
4. Assam

1) 1




) 2
3) 3
(4) 4

IR 1 98 WS U 9| ¥ IRYe R [Re0-3U60 e 50 2, 98 Feifed 4 9 e asg & safa &2

199

2. JWES

3. fedr=a uew
4,399

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27153] Question Description : dwbv_pg_his_eng_2_q13
2[Option ID=27154]

3[Option ID=27155]
4[Option ID=27156]

Sl. No.14
QBID:6014

Studies on Didwana lake were conducted by

1. R. D. Banerji

2. Gurdeep Singh
3. Vasant Shinde
4. N. G. Majumdar

(1)1
(2) 2
(3) 3
(4) 4

Siear id | s Hefafead d d fead g faean mar un

1. 3R, 3. Tl

2. ey HE
3. 394 B

4. 4. Sl HeHER

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27157] Question Description : dwbv_pg_his_eng_2_q14
2[Option ID=27158]

3[Option ID=27159]
4[Option ID=27160]

Sl. No.15
QBID:6015

Which leader was instrumental in getting the smuggled footage of Indian National Army for a film on Netaji
Subhas Chandra Bose?

1. Satyamurti

2. C. Rajagopalachari

3. Sardar Vallabh Bhai Patel
4. Mahatma Gandhi




1) 1
(2) 2
(3) 3
(4) 4

frafaRad # 9 feod a1 = sl GHI 95 19 TR 3141Rd fther §q YR TP 41 3 i Pos awsl & H19H 3 0
B H Aga@yul YHd! HyTg ?

1. GaHfd
2. bf. ISaTeER]

3. TIGR geay UTE Ued
4. TETT e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27161] Question Description : dwbv_pg_his_eng_2_q15
2[Option ID=27162]

3[Option ID=27163]
4[Option ID=27164]

Sl. No.16
QBID:6016

Which of the following Portugese Roman Catholic missionary did notable work in the field of opening some elementary
schools and some orphanages?

1. Joshua Marshman
2. Robert-de-Naobil
3. William Carey

4. William Ward

OR!
(2) 2
3) 3
(4) 4

FafaiRad o 9 SF-11 gawrel A8 SHylfes H-yar® () o1, - oo Uit [Gaedl SR o9 sFued! ®f gl &
&7 o Hgaqul o faar ur?

1. ST AR
2. Vg -5 AfEa
3. fafeom &4
4. fofqom ars

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27165] Question Description : dwbv_pg_his_eng_2_q16
2[Option ID=27166]

3[Option ID=27167]
4[Option ID=27168]

Sl. No.17
QBID:6017




Who helped Monier Williams in preparation of his Sanskrit English Dictionary before leaving for England to become a
barrister?

1. Bipin Chandra Pal

2. Bal Gangadhar Tilak

3. Shyamiji Krishna Varma
4. Gopal Krishna Gokhale

1)
(2)
(3)
(4)

A W N =

Fafaiad o fe SR 894 & [T 708 9H 9 Ugd AR [Gfoa ©f 30 Tepd-3iiiel Wes B &I ddR @3- 4
Terdl @i 4i?

1. fafU 45 urat

2. 919 TR faeie
3. ROl HWT g1
4. TI19TE ST TRaS

1)
(2)
(3)
(4)

A W N R

1[Option ID=27169] Question Description : dwbv_pg_his_eng_2_q17
2[Option ID=27170]
3[Option ID=27171]
4[Option ID=27172]

Sl. No.18
QBID:6018

The Anandamatha of Bankim Chandra Chattopadhyay deals with:

1. Kol Santhal Revalt
2. Pabna Revolt

3. Sanyasi Revolt

4. Pagalpanthi Revolt

1)
(2)
(3)
(4)

A W N =

dfeprdg TEIuTeard gR1 I $HGHe Agfaiad | ey § uefid 87

1. I G fasig
2. 9a fags

2. g fagie

4. U g

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27173] Question Description : dwbv_pg_his_eng_2_q18
2[Option ID=27174]




3[Option ID=27175]
4[Option ID=27176]

Sl. No.19
QBID:6019

G.

1)
(2)
(3)
(4)

D. Birla as a legislator in 1926-27 fought the election on the ticket of which party?

1. Nationalist Party

2. The Indian National Congress
3. Swaraj Party

4. Liberal Party

A W N R

1926-27 H Ud fqurae & &9 | il 31, faxar 4 fog urdl & fepe W gHa a1y

1)
(2)
(3)
(4)

1. "EFfere uref

2. YRAE AP B
3. WIS O]

4. foRa et

A W N R

1[Option ID=27177] Question Description : dwbv_pg_his_eng_2_q19
2[Option ID=27178]
3[Option ID=27179]
4[Option ID=27180]

Sl. No.20
QBID:6020

Who started the 'Satya Prakash’ in Gujarati in 1852 to advocate widow remarriage?

1)
(2)
(3)
(4)

1. R. G. Bhandarkar

2. Karsondas Mulji

3. Bal Shastri Jambekar
4. M. G. Ranade

A W N R

Fofeiea o @ feoe [ear-gafdare & 9uds @3 & R Torm e o T WerRr gRe fasar on

(1)
(2)
(3)
(4)

1. ARG HSRHT
2. HYHACTH Heail
3. 919 Al STEE
4. TH S, YA

A W N R

1[Option ID=27181] Question Description : dwbv_pg_his_eng_2_q20
2[Option ID=27182]




3[Option ID=27183]
4[Option ID=27184]

Sl. No.21
QBID:6021

The Cheros and Khairwars of Palamau rose under whose leadership in the Revolt of 18577

1. Surendra Sai

2. Raja Arjun Singh
3. Judhar Singh

4. Pitambar Sahi

1)
(2)
(3)
(4)

1857 & fagig # Fofafed ¥ ¥ foud Jqa o 9aTTS & =R 3R EXaR Thae gu 37

1
2. Il 3l g
3. R g
4. UTareeR 9TEl

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=27185] Question Description : dwbv_pg_his_eng_2_q21
2[Option ID=27186]
3[Option ID=27187]
4[Option ID=27188]

Sl. No.22
QBID:6022

Who wrote the book ‘Hindutva' ?

1. Madan Lal Dhingra

2. Aurobinde Ghosh

3. Shyamiji Krishnavarma
4. V. D. Savarkar

1)
(2)
(3)
(4)

A W N R

FrofaRea 4 1 e fBga Ame Gias fod 2

1. Hed ard imr
2. aRfag |y
3. TOTHel pwraH

4. 9131, gralo

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27189] Question Description : dwbv_pg_his_eng_2_q22
2[Option ID=27190]




3[Option ID=27191]
4[Option ID=27192]

Sl. No.23
QBID:6023

Which of the following was not the part of the Chauth income?

1. Babti

2. Sahotra

3. Nadgaunda
4. Nagabhaga

1)
(2)
(3)
(4)

A W N R

Fafafad # 4 o1 Iy 319 &7 4F 981 U7

1. dadl
2. 9806
3. TS
4. T YT

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27193] Question Description : dwbv_pg_his_eng_2_q23
2[Option ID=27194]
3[Option ID=27195]
4[Option ID=27196]

Sl. No.24
QBID:6024

The new regiment of Indian National Army (I.N.A.) raised at Taiping in Malaya in September 1943 was called by the soldiers
of that Brigade as the

1. Rani Jhansi Brigade
2. Gandhi Brigade

3. Ssubhas Brigade

4. Azad Brigade

1)
(2)
(3)
(4)

A W N R

g & disii d faarR 1943 H {19 fema Il @i U s Jorie ©iidd 31 715, forgd uifeai 38 s s amd
Jaifta e

1. I it fos
2. TR fars

3. gUTY faFrs

4, T9Te fols

1 1
2) 2
3) 3




(4) 4

1[Option ID=27197] Question Description : dwbv_pg_his_eng_2_q24
2[Option ID=27198]
3[Option ID=27199]
4[Option ID=27200]

Sl. No.25
QBID:6025

Who is known as the Father of Land Settlement in Northern India?

1. Lord Cornwallis
2. Thomas Munro
3. Holt Mackenzie
4, Merttins Bird

(1) 1
) 2
3) 3
(4) 4

Frofafed & € frge! 398 YRad ¥ Y 46195 & @ & 0 8 I A 8

1. QIS PHATTH
2. YA I

3. Blee ddb-al
4. 9w

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27201] Question Description : dwbv_pg_his_eng_2_q25
2[Option ID=27202]

3[Option ID=27203]
4[Option ID=27204]

Sl. No.26
QBID:6026

The first jute spinning mill in India was established at Rishra in 1855 by whom?

1. Robert Bruce

2. George Henderson
3. Andrew Yule

4. George Ackland

1) 1
(2) 2
3) 3
(4) 4

fufeiaa o ¥ g gRT YRd & RERTH 1855 H UuH 92 ddls 190 & R 3 15 o417

1.]0a8 g9
2. Silel g eed
3. T4 gd
4. SIS Hidds

1) 1
(2) 2




3) 3
(4) 4

1[Option ID=27205] Question Description : dwbv_pg_his_eng_2_q26
2[Option ID=27206]
3[Option ID=27207]
4[Option ID=27208]

Sl. No.27
QBID:6027

Which of the following was not the part of Gandhi's constructive programme?

1. The Talimi Sangh

2. The Gram Udyog Sangh

3. The Cow Protection Association

4. Inter-Religion Marriage Association

(1) 1
(2) 2
(3) 3
(4) 4

afafad & ®F 91 1ith & TAIHS BEHH BI 37 Ta) 41?2
1. dferdT |5y
2. I IGRT Y

3. 11-TRE Ty
4. -y faarg oy

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27209] Question Description : dwbv_pg_his_eng_2_q27
2[Option ID=27210]

3[Option ID=27211]
4[Option ID=27212]

Sl. No.28
QBID:6028

Who wrote ‘Dharma Tritiya Ratna’ (Exposure of the Puranas)?

1. Jyatiba Phule

2. Narayan Guru

3. T. M. Nair

4. Ramaswamy Naicker

11
(2) 2
3) 3
4) 4

Fufeiaa & © feg- o gdia 3@ (TeUeR SHI% & QRIS S I &t 417

1. SAifaar B
2. ARAW T®
3.9 W AR
4. AT D

1 1




(2) 2

3) 3

(4) 4

1[Option ID=27213] Question Description : dwbv_pg_his_eng_2_q28
2[Option ID=27214]

3[Option ID=27215]
4[Option ID=27216]

Sl. No.29
QBID:6029

Which of the following German scholars wrote extensively on Indian intellectual history without learning any Indian
language?

1. F. W. J. Schelling
2. A, Schopenhauer
3. G. W. F. Hegel

4. F. Schlegel

1) 1
) 2
(3) 3
(4) 4

Fofatad d € oF 1 9d7 =2idr g, forad fod ot yRdig ye & I a1 yRdio 98 sioe « o O fomar

1. U Secy ol BifcT
2. U FUARIR

3. Gﬁ.@ﬂ@. ]
4. T, TITd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27217] Question Description : dwbv_pg_his_eng_2_q29
2[Option ID=27218]

3[Option ID=27219]
4[Option ID=27220]

Sl. No.30
QBID:6030

Who among the following has inspired the emergence of ‘Psycho-history™?

1. Elizabeth Harlock
2. E H. Garett

3. Karl Pauper

4. Sigmund Freud

1) 1
(2) 2
3) 3
(4) 4




Fufiad o 9 e THRldem [@sel-igE) & ugHid ®f Ufd faar

1. URTEIEY gaid
2.3 T4.7RE

3. ®IE Ui

4. ArTS Wwige

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27221] Question Description : dwbv_pg_his_eng_2_q30
2[Option ID=27222]

3[Option ID=27223]
4[Option ID=27224]

Sl. No.31
QBID:6031

Which one is not correct about Leopold Von Ranke?

1. He played a leading role in establishing history as a respected discipline in the universities.
2. Established the notion that all sound history must be based on primary sources.

3. Established the notion that all sound history must be based on rigorous methodology.

4. He was the father of the Romanticism.

1) 1
(2) 2
(3) 3
(4) 4

e R IS F i dfpifEad I W T8 =i &2

1. 35 3faer o fayfaeadl & TmreHe SR & 0 3 ™Ifid & § Tgayu Yfie g
2. 351 g YR |10 &1, & 9 7R Sfasm urfae @[l o 1efd sH =i

3. 351 U8 YR g &Y, i 7R 3fAe™ SR uunel fage W snuifiid g 9t

4.3 WHEAAG & oD U

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27225] Question Description : dwbv_pg_his_eng_2_q31
2[Option ID=27226]

3[Option ID=27227]
4[Option ID=27228]

Sl. No.32
QBID:6032

Who was the first to speak of peasant revolts against the Mughal Empire?

1. W. C. Smith

2. W. H. Moreland
3. Irfan Habib

4. ). F. Richards

(1)1
(2) 2
(3) 3




(4) 4

T 9Tl & a9 [haH [dgie &1 9duyH Jeoid foaH foar ur?

1. =g, 41 Y

2. &9, Td. ARATS
3. WHHE gdld
4.5, U, NEsy

1)
(2)
(3)
(4)

A W N =

1[Option ID=27229] Question Description : dwbv_pg_his_eng_2_q32
2[Option ID=27230]
3[Option ID=27231]
4[Option ID=27232]

Sl. No.33
QBID:6033

Who continued the writing of Rajatarangini after Kalhan?

1. Zain-ul-Abidin
2. Jonaraja

3. shyamvarna
4. Rajavali

1)
(2)
(3)
(4)

A W N R

gl & ULTT TSI RIvl &I eia- fha- SRl 3r 417

1. Od AfEaH
2. SERTET
3. XgmHauf
4. Ireget

1)
(2)
(3)
(4)

A W N R

1[Option ID=27233] Question Description : dwbv_pg_his_eng_2_q33
2[Option ID=27234]
3[Option ID=27235]
4[Option ID=27236]

Sl. No.34
QBID:6034

Which Sufi saint's hospice was on the banks of river Yamuna in Ghiyaspur?

1. Shaikh Ziyauddin Rumi
2. Shaikh Ruknuddin

3. Shaikh Nizamuddin Aulia
4. Shaikh Fariduddin

1 1
2) 2




3) 3
(4) 4

FafaRad 5 9 [y gl 9d @1 @HeE ey | I841 981 & [6AR 4 2

1. RRE fomamae = =4t
2. AW FH e A

3. 31 e Shfemm
4. %G BRIgeH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27237] Question Description : dwbv_pg_his_eng_2_q34
2[Option ID=27238]

3[Option ID=27239]
4[Option ID=27240]

Sl. No.35
QBID:6035

Who among the following historians stated that Vijaynagara represented more the control of non-Tamils over Tamil country,
and a migration of Telugu warriors and peasants into Tamil Nadu?

1. Noboru Karashima

2. Burton Stein

3. Krishnaswami Ayangar
4. T. V. Mahalingam

(1) 1
(2) 2
(3) 3
(4) 4

FafRad SfoeeRl & U fde $el ol o faugFR A 9ffed o8 R IR-afFed! & Fa=er $fR dc gisrsl 9yl el &
IS H Wa9- & U¥qa (a1 67

1. TERE BT

2. @A EH

3. PURGHT AR
4. %1 4. geifaim™

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27241] Question Description : dwbv_pg_his_eng_2_q35
2[Option ID=27242]

3[Option ID=27243]
4[Option ID=27244]

Sl. No.36
QBID:6036




Which Sultan believed in close diplomatic, cultural and economic contacts with outside world?

1. Islam Shah

2. Ruknuddin Firoz

3. Muhammad bin Tughlaqg
4. Firuz Tughlug

1)
(2)
(3)
(4)

A W N R

Fofafad § O &F 91 Gea 9184 fay & anl & O SiiE Se-iad, o AR e dud &1 gaer ur?

1. 55T TG

2. SHIG A R
3. HgHg f91 Jiae
YRR ERUNG

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27245] Question Description : dwbv_pg_his_eng_2_q36
2[Option ID=27246]

3[Option ID=27247]
4[Option ID=27248]

Sl. No.37
QBID:6037

The term Khurak-i-Dawwab stands for-

1. Food for soldiers

2. Food for Royal family

3. Food for distribution among poor families
4. Fodder for Beasts

1)
(2)
(3)
(4)

A W N R

GUH-U-GoAld’ WG Pl N &:

1. @t &g ¥ieH

2. 281 URER 5 HIoH

3. e iRt & 7 faawor &g e
4, Ot g AR

1)
(2)
(3)
(4)

A W N R

1[Option ID=27249] Question Description : dwbv_pg_his_eng_2_q37
2[Option ID=27250]
3[Option ID=27251]
4[Option ID=27252]




Sl. No.38
QBID:6038

Who among the following Sikh Gurus placed before his followers the ideal of a "house holder saint'?

1. Guru Angad

2. Guru Amardas
3. Guru Hargovind
4. Guru Harkishan

(1)
(2)
(3)
(4)

FafeRad g ool & 9 farg- 30+ a1l & GHel Tee Hd' &1 HIGR Wdd fbar

1. 7% 3G

2. 7% ARG
3. 7% gulifae
4. % gIHEH

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=27253] Question Description : dwbv_pg_his_eng_2_q38
2[Option ID=27254]
3[Option ID=27255]
4[Option ID=27256]

Sl. No.39
QBID:6039

Who asserted that "there is no middle state in India”.

1. Abdul Hamid Lahori
2. Francois Bernier

3. Khafi Khan

4. Sujan Rai Bhandari

(1)
(2)
(3)
(4)

A W N R

o e fe YR d aw ol G & am e g |

1. H{e5d BHIG AleRl
2. Ry aHIR
3. @HT @H

4. go- I HSKI

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27257] Question Description : dwbv_pg_his_eng_2_q39
2[Option ID=27258]
3[Option ID=27259]
4[Option ID=27260]
________________________________________________________________________________________________________________________________|]




Sl. No.40
QBID:6040

Who said, "Film can open our minds to another, more vivid and human, less literary understanding of the past.”

1. Daniel Leab

2. Millicent Marcus
3. James Monaco
4, Pierre Sorlin

1) 1
(2) 2
3) 3
(4) 4

U T8 ®e1 U - fihed eAR A @I @Id 9odl & -3 el a0y AR -0, $F Jiieid® did & 999 & W

1. ofgd faa
2. fofed=ndg
3. O A@!
4. Ty gifeH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27261] Question Description : dwbv_pg_his_eng_2_q40
2[Option ID=27262]

3[Option ID=27263]
4[Option ID=27264]

Sl. No.41
QBID:6041

Which of the following are correct?

A. Karachi session of the Muslim League adopted the slogan 'Divide and Quit".

B. Mutiny of the Indian Naval Ratings began in February 1946 in Bombay.

C. Lord Mountbatten invited Nehru to form an Interim Government in August 1946.
D. V. D. Savarkar was elected as the President of the Hindu Mahasabha in 1938.

E. ‘Steel frame’ speech was delivered by Lloyd George.

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, B, D and E only
3.A Band D only
4. A, Band E only

11
(2) 2
(3) 3
(4) 4




Fgfefad & 9 &9 oy 98 87
A. R&TH TR & B! SHdeE A 9iel R @lsr (f5a1ss s fée) AR & sifier faar a1l
B. YR A& e o1 fasie 9 | Beadl, 1946 T IE gan U1l

C. dls AIdcaeA A 3T, 1946 H U SARH WHR D1 716 B & (oY Hgee di SHHE fdar 4l
D. dl. S1. Wravax &l 1938 H g5 HeraHT &1 &g g1 7147 Ul |
E. Q198 Silal 4 FTd A HIg0 & o
i< feu U faswel # 4 9t Iw g :
1.®dd A, B, C, D
2.Hdd A, B, D, E

3. $adA, B, D
4, BATA, B, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27265] Question Description : dwbv_pg_his_eng_2_q41
2[Option ID=27266]

3[Option ID=27267]
4[Option ID=27268]

Sl. No.42
QBID:6042

Which of the following statements are correct?

A. Kanishka was a follower of Mahayana Buddhism.

B. Buddhist council (Mahasangha) was held in Kashmir.

C. Taxila was built by Kanishka.

D. The stupa in Peshawar was constructed by the Greek architect Agisala.
E. Nagarjuna and Ashvaghosh were contemporaries of Kanishka.

Choose the correct answer from the options given below:

1.B, C, D and E only
2. A, B and C only

3.A B, D and E only
4. A B, Cand D only

1) 1
(2) 2
3) 3
(4) 4




FafaRad # § -3 dad 98l & -
A. BIP dig Y &I e Rl &1 Al ol
B. Sl HEHY (URYG) HIAR H i g3 41l
C. Pi-sp J Teifren $1 Ao g o)
D. A ardfde URorTe gRI URNaR § & o1 i fodr 4 411
E. AT HR HYEY DD & FHSIH o
=it f&U 7 fadedl # 9 T8 SR I -
1. @A B, C, D 3R E
2. Bad A, B AR C

3. %90 A B, DR E
4. BAAA, B, CHR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27269] Question Description : dwbv_pg_his_eng_2_q42
2[Option ID=27270]

3[Option ID=27271]
4[Option ID=27272]

Sl. No.43
QBID:6043

Match List | with List Il

List 1 List Il

A. General Service Enlistment Act |I. 1878

B. Religious Disabilities Act Il. 1856
C. Post Office Act 111, 1850
D. The Indian Arms Act IV. 1854

Choose the correct answer from the options given below:

TA-ILB-I,C-1L,D-IV
ZA-ILB-NL,C-1V,D-1
3.A-IV,B-LC-1,D-1I
4AA-LB-1LC-U,D-1V

1) 1
(2) 2
3) 3
(4) 4




Tt -1 B gt -1 o gAfed St

gl -l gl -l
A, T HaT Yl Sfaae 1. 1878
o, a1 Sramar sfafgn II. 1856
C. U Sp HfuFam IIl. 1850
D. HRAY T HTFH IV. 1854
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILBE-IIL,C-1, D-IV
2ZA-ILB-NL,C-1IV, D-1
3.A-IV,B-LC-1l, D-1l
4 A-LB-1LC-1, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27273] Question Description : dwbv_pg_his_eng_2_q43
2[Option ID=27274]

3[Option ID=27275]
4[Option ID=27276]

Sl. No.44
QBID:6044

With regard to the condition of music during the reign of Aurangazeb which of the following statements are correct?
A. Fagirullah wrote musical treatise entitled Rag Darpan.

B. Zebunnissa, the daughter of Aurangzeb, was a renowned patron of music.

C. Nagshbandi abondoned music during Aurangazeb's reign.

D. Muhammed Azam gave deadly blow to music.

E. Tavernier didn't mention about music during Aurangzeb's reign.

Choose the correct answer from the options given below:

1. A and B only

2. A Band Conly
3.B, D and E only
4. A, B and E only

1) 1
(2) 2
(3) 3
(4) 4




RIS & B  GRH Fifld 3 Ul & deH H Fafeiad § 4 oH 4 sy usl 87
A TTeed A M U Wb iid Uey B 51 DI

B. HTTie 1 At Sigfaa il &1 WRfaer @

C. SRTToid & DTS & R AaRaieal 4 Gifid 1 IRAr o e

D. WG 1o - Giid &I faftia mard ugarn
E. TAFR 4 ST & WEH B & GRMF Wiid &1 [yl & ded & Sora 121 fhar g
e feu e fowedl H 4 W8I SR A -

1.®ad A, B

2. ®Ad A, B, C

3. %ddB, D, E
4, BATA, B, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=27277] Question Description : dwbv_pg_his_eng_2_q44
2[Option ID=27278]
3[Option ID=27279]
4[Option ID=27280]

Sl. No.45
QBID:6045

Which of the following statements in respect of the Igta system are correct?
A. From the Ghaurian Empire, the Igta system was directly inherited by the Delhi Sultanate.

B. Minhaj Siraj's Tabagat-i-Nasiri does not provide us with much evidence as to how the Igta system worked during the
13th century.

C. A Shahna or superindendent was appointed in each Igta.

D. Balban took certain steps to strengthen royal control over the Iqgta.
E. Igta system was a replica of the Persian administration.

Choose the correct answer from the options given below:

1. A and D only
2.C, Dand E only
3.B and E only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N R




Sodl UGl & g | Fafafad oAl 5 9 @ 9 Sy Jel o7
A. 381 USid TRT 916 § Yogard: feee Seaad gl <l 71g A
8. fireTol RRT B q81d-T 1R 86 SF® 91T UG el ®dl & 10 13 31 981 & G 5aq1 UGid &d S el o
C. Ul 3ol H g1 1 sieliaics @I Hgfdd @i it ot
D. & - 38a1 R eI 430 bl e 991 & [od 3a0® HeH 381 U]
E. 3941 Ugfd BIRET URITHA i Uiddid 47|
< feu e fadenl o U 98l SR g :
1.®Wad A, D
2.%adC, D, E
3. %ad B, E
4.%adAB, C, D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27281] Question Description : dwbv_pg_his_eng_2_q45
2[Option ID=27282]

3[Option ID=27283]
4[Option ID=27284]

Sl. No.46
QBID:6046

From among the following statements regarding the tomb of Akbar, which enes are correct?
A. The tomb is a multi-storied structure.

B. Jahangir completed its construction in 1614.

C. The first three stories are pillared.

D. The top floor is built of white marble.

E. The plinth of the tomb has similarity with the tomb of Jahangir.

Choose the correct answer from the options given below:

1. A B and E only
2. A Band Conly
3.A Band D only
4. A B, Cand D only

1)1
(2) 2
(3) 3
(4) 4




PR P AP & Ged H Agfed sy f 9 e d sy T8l g ?

A. THE U6 TgHfoal a8
B. BN A TY 1614 H SH®T A0 BIY qui fbar o
C. Tgalt o Hferd Y arclt &

D. S Hfed ¥t SRR 4 Fffa &

E. HBa B YR TR & Hohas & G0 &
< feu e fadenl o U 98l SR g :
1.®HAdA, B, E
2. ®WddA, B, C

3. $adA, B, D
4. BIAA B, C,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27285] Question Description : dwbv_pg_his_eng_2_q46
2[Option ID=27286]

3[Option ID=27287]
4[Option ID=27288]

Sl. No.47
QBID:6047

With reference to the Mughal style of painting, which of the following statements are correct?
A. The imperial paintings were not influenced by the preferences of Mughal Emperors.

B. Babur had established a workshop for painting.

C. The earliest examples of documentation are found during the period of Humayun.

D. The imperial Mughal painters were from India, Persia and Central Asia.

E. Humayun was responsible for the elaboration of Mughal painting.

Choose the correct answer from the options given below:

1.A B, Cand D only
2.C, Dand E only
3.Cand D only

4. A, BandE only

1)1
(2) 2
(3) 3
(4) 4




i1d fFemdan 2efl & ded # Fafefad oyl 4 8 oH € oy 981 87
A, STE1 UTET () T9Te STEd! &1 aigdr ¥ wH1iad el &
B. §T&R  UfeT (ke 5q TP o= wiifud S
C. Weig= & UIiHGH 3a1gRU §HI-Y & ARSI & G Ul Sild g |
D. TME! il [IABR HRd, BRY AR 7 UREr 4 4|
E. TR 70 Fepaamatl & 4R o Suvar ol
i< f&T 70 fadedi # 9 981 ST I -
1. @4 A, B,C, D
2.6aTC, D, E

2. ®aAC, D
4, BATA, B, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=27289] Question Description : dwbv_pg_his_eng_2_q47
2[Option ID=27290]
3[Option ID=27291]
4[Option ID=27292]

Sl. No.48
QBID:6048

Which one of the following statements are correct about money and prices during Delhi Sultanate?

A. The establisment of Delhi Sultanate marked rapid changes in money circulation.

B. Before the establishment of Delhi Sultanate the common coinage of Punjab and Delhi regions were called Dehliwal.
C. llutmish introduced copper made Tanka of about 170 grains.

D. The earlier coins of Punjab and Delhi regions are mentioned in Qutb mosque inscription of C.1198.

E. The Gahadvalas of Kanauj issued a small amount of gold coins bearing the image of Saraswati.

Choose the correct answer from the options given below:

1. A B and D only
2.B, C and E only
3.A Dand E only
4. A, Cand D only

1)
(2)
(3)
(4)

A W N R




feeel! HeaHd & QR 4 Ud Hed! & daH H FafdRad # 3 @9 1 oUWl 52

A. Tl Seod &1 R0 4 o & TR H gd uRad- fafed fear
. el Yeod & W1 & ud dad ud faeeht & &1 9 g cgcitard deard 4
C. SEATERT = TRTHAT 170 U & didl U & Sl ol UIRY T
D. USIE Ud feeeil &9 & RN [ad! @1 3o 1198 & $d Alae YT H gl
E. Tl & e Sald § DS U & [ad o [T o IR I3l @l (97 g
i feu 7 fadhedi H U Ugl IR 94 -
1. B4 A, B, D
2.%ad B, G, E
3. %A A D, E
4.PFAA C, D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27293] Question Description : dwbv_pg_his_eng_2_q48
2[Option ID=27294]

3[Option ID=27295]
4[Option ID=27296]

Sl. No.49
QBID:6049

Akbar inherited a large range of artillery that included the following:
A. Tufang

B. Top

C. Deg

D. Buyutat

E. Zarbzan

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, B, Cand E only
3.B,C, D and E only
4.C, Dand E only

1) 1
(2) 2
3) 3
(4) 4




HHER DI AT TH1 T ] ISR & und g o forge! Fafaiaa it 2.

A gWIT
B. 9
C. 31

D. SgdId

E. Sa

i< feu U faswel # 4 9t Iw g :
1.®dd A, B, C, D
2.Hdd A, B, CE

3.%ad B, C, D, E
4. HFAC, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27297] Question Description : dwbv_pg_his_eng_2_q49
2[Option ID=27298]

3[Option ID=27299]
4[Option ID=27300]

Sl. No.50
QBID:6050

Bayazid Raushan exhorted the Sufi path and urged the pursuance of eight steps. Which of these are included in the list
given below:

A, Shariat

B. Tarigat

C. Hagigat

D. Marifat

E. Wuslat

Choose the correct answer from the options given below:

1.B, C, D and E only
2. A, Band D only
3.B,Cand D only
4.A, B, C DandE

(1) 1
(2) 2
(3) 3
(4) 4




el AYE A g1 AR 3R 3D 318 UHT & TR0 &1 Uad 99U fooar, i &1 15 arfae & Fefafea s I
T 87

E. g9ad

I feu e fasdheal H U U8l IR 94 -
1. ®ddB, C, D, E
2. BaAA B, D
3. %ad B, C, D

4.4 B, CDE

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27301] Question Description : dwbv_pg_his_eng_2_q50
2[Option ID=27302]

3[Option ID=27303]
4[Option ID=27304]

SlI. No.51
QBID:6051

With reference to the early life of Sher Shah, which of the following statements are correct?
A. His grandfather was a petty horse trader who came from Afghanistan.

B. His father, Hasan, emerged as a leader of Afghan free booters.

C. Hasan was placed in charge of the pargana of Narnaul.

D. Farid joined the services of Taj Khan, the commander of Bengal.

E. He submitted a petition to Taj Khan to dismiss his father, Hasan from the service.

Choose the correct answer from the options given below:

1.B, C and E only
2. A Band Conly
3.C, Dand E only
4. A Cand Eonly

(1) 1
(2) 2
(3) 3
(4) 4




IR & RIS Siiad & deu , Fafafad § 4 o © oy 981 87
A. IHD CTal sl & Bic AUN 2 Sl B ¥ 1Y 4
B. 3T U U AHHTH el & TRER & T3 Y
C. B9 @I ARAIS YW 1 Y- Hgad faear mar o1
D. BIE @I ST & SIS diel @ & HHH Fia<l el
E. 39 U U1 88 &I Fidl ¥ FareH & U a9 @F @I aifer gidi
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®aa B, G, E
2.BaT A, B, C

2. ®aAC, D, E
4, BAAA, G E

1)
(2)
(3)
(4)

A W N R

1[Option ID=27305] Question Description : dwbv_pg_his_eng_2_q51
2[Option ID=27306]
3[Option ID=27307]
4[Option ID=27308]

Sl. No.52
QBID:6052

Which of the following statements are correct:

A. Skanda Gupta assumed the titles of Kramaditya and Vikramaditya.

B. Somadeva's Katha-Sarit-Sagara mentions the defeat of Mlechchhas.

C. In the sixth century, Gupta suzerainty was challenged by the Hunas.

D. Puru Gupta was succeeded by his son Kumara Gupta IL.

E. The Aphsad Inscription discloses the names of a number of Gupta Kings.
Choose the correct answer from the options given below:

1.A B, Cand D only
2.B, Cand D only

3.A B, Cand E only
4. A, C DandEonly

(1)
(2)
(3)
(4)

A W N R




fFofifad @ $1H-3 qaa9 el o7
A. T H wHIGA AR [SpHIcd S Uil T80 ol
B. UHCd & HYNMRENR H weiws & WIe 1 faavul fed g1
C. gUIT A [t Gl &1 6 ot Lclleat # TTcll o ol
D. PARIE f5did 31U fUdl i & STRINDRI & |
£, HUEHS JTE § TOoTd & B o3l &1 e el 8
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.®dd A, B, C, D
2.Had B, C, D

3. ®HadA, B, C E
4. BTAA, C, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27309] Question Description : dwbv_pg_his_eng_2_q52
2[Option ID=27310]

3[Option ID=27311]
4[Option ID=27312]

Sl. No.53
QBID:6053

Which of the following statements are correct:

A. Jaina teacher Mahavira was a senior contemporary of the Buddha.

B. The concept of Ahimsa (Absence of viclence) was propounded by Mahavira.
C. Vinaya Pitaka is a text teaching the philosophy of Buddhism.

D. Mahavira was born in Bihar, near Pataliputra (Patna).

E. Anekantavada is a major philosophical principle of Jainism.

Choose the correct answer from the options given below:

1.A B, Cand D only
2.A,C DandE only
3.B,C, D and E only
4. A B, DandE only

1)1
(2) 2
(3) 3
(4) 4




FrafaRad 7 ¥ 1H-4 qad 98l § ?
A. O T HETAR HTaH 5 & 9@ Ul
8. HEHT B RHEid BT Widue- HeER | & Uil
C. fa1a fee g o & &2 i e & arcd Jy B
D. *TdH HEIdR &I 9 Y f98R & Ulelelyd & Hdbe gafl Uil
E. HPIIATG o G2 ®1 B Aeaqyl bGd ol
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.®dd A, B, C, D
2.%dd A, C D, E

3.%ad B, C, D, E
4. BTAA, B, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27313] Question Description : dwbv_pg_his_eng_2_q53
2[Option ID=27314]

3[Option ID=27315]
4[Option ID=27316]

Sl. No.54
QBID:6054

Which one of the following statements are correct:

A. Khotan was a very important center of Jainism.

B. Yaudheyas are mentioned in Panini‘s Ashtadhyayi.

C. Coins attributed to the Malava tribe have been discovered in large numbers at Nagar.
D. The Malava coins bear legends.

E. The Nagas were serpent-worshipping tribes of Ancient India.

Choose the correct answer from the options given below:

1.A B, Cand E only
2.A, B, Cand D only
3.A C DandEonly
4.B,C, D and E only

1)1
(2) 2
(3) 3
(4) 4




Fafafad 4 4 ®F-U 959 el & 2
A BIAH o TEIEH &1 980 6% 8
B. TTOT @1 prenmdt o Oy & Seord el g

C. HIa1-DIci (e U J3E 5 AR H a4

D. AIad [a®! R dPbIai- IE6! & g Ud gid 21

E. TR 9Ul &1 Yol SB-dle WIKiF HRd G Sialifd & aFT o]
< feu e fadenl o U 98l SR g :

1. A A, B, C E

2.%4ddA, B, C, D

3.%ad A, C D, E
4, HddAB,C, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27317] Question Description : dwbv_pg_his_eng_2_q54
2[Option ID=27318]

3[Option ID=27319]
4[Option ID=27320]

Sl. No.55
QBID:6055

Which of the following saints belonged to the Varakari pantha?
A Jhaneshwar

B. Namdeva

C. Nimbark

D. Madhava

E. Tukaram

Choose the correct answer from the options given below:

1.B, D and E only
2. A, B and E only
3.C, Dand E only
4. A B and Conly

1)1
(2) 2
(3) 3
(4) 4




Foffad % 9 o1 3 Ud e vy 3 Fafd 37
A THER
5. 9MHed
C. s

D. HIYd

E. qBRH

< feu e fadenl o U 98l SR g :
1.®dd B, D, E
2. BadA B, E

2. ®aAC, D, E
4. BAAA, B, C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27321] Question Description : dwbv_pg_his_eng_2_q55
2[Option ID=27322]

3[Option ID=27323]
4[Option ID=27324]

Sl. No.56
QBID:6056

Which of the following statements are correct?

A. The General Editor of the English translation of Critical Edition of the Ramdyana is R. P. Goldman.

B. This project was completed under the supervision of Bhandarkar Oriental Research Institute (B.O.R.I), Pune.
C. The Ramayana was composed by Valmiki.

D. Kamban wrote his Rdmdyana, Iramavataram in Tamil in 12th century.

E. The Thai Ramdyana is called Ramkien.

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B,C, D and E only

3.A C DandEonly
4. A B, DandE only

1)1
(2) 2
(3) 3
(4) 4




fofafed s S PH-T TeI & 2
A. IHAY & GAIG D ShRUl & sl $idIe & H duled SRl Ticsq- 6|
B. T8 dIG HUSRaR HiNg=a NUd S=<iede & da@yH o U g

C. IHE & T arcife Yl

D. % - dRgdl Wdleq! H aiHe HIHT H SIHGARH IH™Y S T9-1 @I i
E. YT HTST & T THE &1 9 IHGT B
i< feu U faswel # 4 9t Iw g :

1.®dd A, B, C, D

2.%dd B, C, D, E

3.%ad A, C D, E
4. BTAA, B, D, E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27325] Question Description : dwbv_pg_his_eng_2_q56
2[Option ID=27326]

3[Option ID=27327]
4[Option ID=27328]

Sl. No.57
QBID:6057

Which of the following are correct:
A. The Sakas are mentioned in the Praastis of Gautamiputra $atakarni and Samudra Gupta.

B. Sakasthana is probably mentioned in the Mahamayri, in the Mathura Lion Capital Inscription and in the Chandravalli
stone inscription of the Kadamba Mayurasarman

C. The Jaina work Kalakacharya-Kathanaka states that Saka Kings were called Sahi.

D. The Harivarhsa Puranas informs us that Sakas shaved one half of their heads.

E. Princes bearing Saka names are mentioned in several inscriptions discovered from Vajji.
Choose the correct answer from the options given below:

1. A B, Cand D only
2. A B, DandE only
3.A C DandEonly
4.A B, CDandE

1) 1
(2) 2
(3) 3
(4) 4




Fofifed s A B H-A T 8 2
A T O @i 3R 9ET &1 U=l § 26 &1 oo fadl 8l
B. TG @ Iooid YHaa: Herigd ¥ 7yy & g wny sifice ¥ ok Sere TRERTE & g-xmaa [Rrared § e ¢
C. OF I~ PIad Y SYFD H T sl Dl el del T &
D. gfaw v & aftfa &, & 91w Ia® oo+ R & 39 &1al &1 Gear <d 4
E. X[@ AOIGHRI & 19 afe & g SfiHeal 3 9T 8id &1
TRt e H A WS I :
1.®dd A, B, C, D
2.Hdd A, B, D, E
3.®aAA, C D, E

4. A B CDE

1)
(2)
(3)
(4)

A W N R

1[Option ID=27329] Question Description : dwbv_pg_his_eng_2_q57
2[Option ID=27330]
3[Option ID=27331]
4[Option ID=27332]

Sl. No.58
QBID:6058

Which of these are correct:

A. The first newspaper in India, the 'Bengal Gazette' was also known by the name 'Calcutta General Advertiser".

B. Bengal Gazette's criticism of the Government officials and attack on the Governor General led to seizure of its press.
C. The Censorship of the Press Act was introduced in 1809 A.D.

D. The Licensing Regulations of 1823 was introduced by John Adams, as Acting Governor-General.

E. The Press Act (1835) repealed the obnoxious Ordinance of 1823.

Choose the correct answer from the options given below:

1. A and B only
2. A Band Conly
3.A B, Cand E only
4. A B, DandE only

(1)
(2)
(3)
(4)

A W N R




FrafaRed # € @H 9 el 52

A. HRd H TuH GHER-TF Td 9’ & ‘Saddl o-id Usaicgel & 14 4 1 SI=1 ST T
B. TR@N] BTG BT HAET HR TR e W gHd b DRI ST Toie P U B ol g5
C. U9 SuRiAy ¥ fha au 1809 ® AR gl

D. TY 1823 T Al 14 [AHE BHBRI TG-R o-Rd W4 TsH gRI Y &1 741 41|
E. T 3ififad 1835 3 ad 1823 & ufteH® SeTew @i IE farl
i< TeU 71Q fadhedl # U el IR 44 -

1. ®hdd A 3R B

2.Had A, B3R C

3. BaA A, B, C 3R E
4, BATA, B, D AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27333] Question Description : dwbv_pg_his_eng_2_q58
2[Option ID=27334]

3[Option ID=27335]
4[Option ID=27336]

Sl. No.59
QBID:6059

Which of the following are correct:
A. In the Svetasvatara Upanishad, Siva figures as the God superior to the Vedic pantheon.

B. Siva is classed among minor gods, both in Apastamba Grihya Satra and Kautilya's Arthasdstra.

C. A four-armed figure of the god Vishnu-Vasudeva, with chakra in the upper left hand, is found on the coins of the

Pafichala King Vishnumitra.

D. In the AAguttara Nikaya reference is made of Ajivikas who shifted their center of activities to the Pundra country.

E. Vinayaka, a synonym of Ganesa, occurs in the Atharvasiras Upanishad.
Choose the correct answer from the options given below:

1. A B and E only
2.B, Cand E only
3.A C DandEonly
4. A, B, Cand E only

(1) 1
(2) 2
3) 3
4) 4




FrafaRad qadedl § ©1H-9 98l § 2
A. SR UG | 19 & dfcd cadrei J 981 9d™ ™ 8
B. UGS eI 3R Bifeed & =a & f21a &1 o@ gaans o1 4vh & frr mr
C. UTTe Xre fqwifiE & fed! | fAw] - ajea &1 ufow ®f aqs ©u H axiian 11 &, 5Fd U@ il g1Y § 9% e gl
D. R o | quiF fidd &, far sieliad! - Ug <= | sl iafafial & o =iifta faan
. AR Jufug & 10w B FFEE e T E|
i< f&T 70 fadedi # 9 981 ST I -
1. ®AAABE
2. BaTABCE

3. HITACDE
4, BIAABCE

1)
(2)
(3)
(4)

A W N R

1[Option ID=27337] Question Description : dwbv_pg_his_eng_2_q59
2[Option ID=27338]
3[Option ID=27339]
4[Option ID=27340]

Sl. No.60
QBID:6060

Which of these are correct:

A. Forest Act of 1865 merely empowered the state to assert control over forest resources that it immediately required while
still acknowledging a need to respect the existing rights of forest users.

B. The Forest Act of 1878 established the basic categories of ‘Reserved’ and 'Protected’ forests.

C. Under the Forest Act of 1878, reserve forests were made an exclusive state monopoly.

D. The Forest Act of 1878, allowed people slash and burn shifting agriculture in Reserved forests.
E. The Forest Act of 1878, allowed grazing in Reserve forest.

Choose the correct answer from the options given below:

1. A and B only

2. A Band Conly
3.A B, Cand D only
4. A, B, Cand E only

1)
(2)
(3)
(4)

A W N R




frfeiad 4 9 Sa Sy T8I § 2

A. 1865 @1 9 HUFTH g4 SURIGAIS & Jafdd HHBRI & Hex S AaaHdl I HFd §U a4 SHEH! W FEF0 41
TG & AU @t drepTied €U ¥ ATaRamdl o, 39 A4 ok @ THEE €U ¥ 996 fod|

B. 1878 G SMUFTH = 91 &l "R SR TRIET i 7o 4ot H wifud foan
C. 1878 @ g HfUMEH & Sidvid HRIEH a4 W 39 ¥ U Ay B UHIUBR 51 71|
D. 1878 & & HUFTH & Jarid A& a9 ° ded U4 T+ UHIT &34 &1 anll & 94T off|
E. 1878 & &1 HTUTOH & fid HRIET a4 | X5 & BI 3741d &l 715 4|
i<l feu e fadeal & 9 W6l SR 9 -
1. ®hdd A 3R B
2.%Bad A, B AR C

3. BAAA, B, C, R D
4, BAAA, B, C AR E

1)
(2)
(3)
(4)

A W N =

1[Option ID=27341] Question Description : dwbv_pg_his_eng_2_q60
2[Option ID=27342]
3[Option ID=27343]
4[Option ID=27344]

Sl. No.61
QBID:6061

Which of these are correct regarding Quit India Movement, 1942.

A. In Contai, the swaraj panchayat was started in November, 1942,

B. Tamralipta Jatiya Sarkar had a women's corps known as Bhagini Sena.

C. The parallel government established at Tamluk started the mouthpiece, 'Biplabi'.
D. In Talcher, during the 'Quit India movement' "Chasi-mulia raj” was established.
E. The “Chasi-mulia raj" in Tamluk was a parallel government of feudal landlords.
Choose the correct answer from the options given below:

1. A and B only

2. A Band Conly
3.A B, Cand D only
4.A C DandEonly

1)
(2)
(3)
(4)

A W N R




frafafad # 9 1Y $Y YRd 318! Afeiad & a8 J Tel a7
A, FdER 1942 H BIls H WIS UdRd B LEAT DI T3 T
B. dTETT o WROR @1 Afge Mo/ @ YFF 941 & =19 I ST S ol

C. gD H 10T YHFIR WHR - Guud Tawrdl & IR il
D. YI¥d BISI HGIeH & G deak 3 aT8! 5o I & RIUAT & 115 o)
E. T | ~aTe e el S SHIGR! @1 T WaR Ut
i< f&T 70 fadedi # 9 981 ST I -
1. ®ad A 3R B
2. Bad A, BIHRC

3.BAAA, B, C 3R D
4, BAUA C, D HRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27345] Question Description : dwbv_pg_his_eng_2_q61
2[Option ID=27346]

3[Option ID=27347]
4[Option ID=27348]

Sl. No.62
QBID:6062

Which of the following are correct:

A. The cave temple Sittannavasal in Pudukottai contains some fine paintings of the time of the Pallava king

Mahendravarman.

B. A copper image of Buddha was erected at Bodh-Gaya in Bihar at the close of 6% century.

C. The Buddha figures in general can be classified under three main types, viz. sthanaka (standing), dsana (seated) and

sayana (recumbent).

D. In some sculptures from Gandhara, Mathura and Sarnath, the hair on Buddha's head is shown as curled, turning from

right to left.

E. In the Gandhara style, Buddha is usually shown with his right hand raised in abhaya mudra.

Choose the correct answer from the options given below:

1.A C DandEonly
2.C, Dand Eonly
3.A, CandE only
4. A, D and E only

1) 1
() 2
3) 3
(4) 4




o daH-2 g g 2
A. Igdigs Ryd RaHare -4 | Uwid TN He5an- ®loiF o H-uH fasR! Ui ke g
8. 95 @1 Us B UiaH (Bfa) [T8R & Siermn 3 Sad Tarea] 3 ®i1fud o1 74 |

C. 95 ! UlcHrel (eiagl) & H- EY9 H oiH T80 UPRI & aid avligd (ddl off bl & 3GIexuNY- RIS, & R
Bls

D. YR, HYRT 3R TR H Wi sl ¥ g & RRWR 910 &1 YerTd ¥9 F g4 ¥ 910 &1 @B a=a1 T |
E. TR Xl & G5 DI MR W 34T Ta1 § {0 alie-] 814 S0 36101 [eadl widl & |
TRt e F Y aE IR

1.®ad A, C, D, E

2.%ad C, D, E

3. ®BIAA, C, E
4. BIAA, D, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=27349] Question Description : dwbv_pg_his_eng_2_q62
2[Option ID=27350]
3[Option ID=27351]
4[Option ID=27352]

Sl. No.63
QBID:6063

Which of these are correct:

A. Peshwa Baji Rao Il died at Bithur.

B. In 1803, Treaty of Surji Arjangaon was concluded between the Holkars and the British.
C. Treaty of Saugauli was signed between the English and the Raja of Nepal.

D. Ahalya Bai Holkar died in 1793.

E. Mahadji Sindhia concluded a treaty of friendship with Sikh chiefs in May 1785.
Choose the correct answer from the options given below:

1. A B and C only
2.A B, Cand D only
3. Aand Conly

4. A Cand Eonly

1)
(2)
(3)
(4)

A W N R




Faffed H ¥ @R I weI g 2
A URIEGT IR (1 &1 5 fage H g3
B. T4 1803 H SO U4 {ouil o HEd Goil SAoi-11d @1 e g5 ol
C. Jifiei! @ TiY SiUil ud HuTel & el o 7l g5 ot
D. HigIaTs gled? ®I 5 1793 H g U1
E. HeTgel fftar 5 g vt & 9y ue 551 i @ off (|1 1785 H)
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B, C
2.Bad A, B, C, D

3. HIAA AR C
4. HAAA, C E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27353] Question Description : dwbv_pg_his_eng_2_q63
2[Option ID=27354]

3[Option ID=27355]
4[Option ID=27356]

Sl. No.64
QBID:6064

Which of these are correct:

A.Jinnah acted as Dadabhai’s Secretary at the Calcutta Congress of 1906.

B. Elections were held in British India in November 1923 for the central legislative assembly.

C. Jinnah focused on reviving the Muslim League at its Lahore session in 1923.

D. After 1923, Jinnah wanted to continue co-operation with Congress on the same terms of the Lucknow Pact.

E. The Hindu Mahasabha members like Madan Mohan Malviya, B. S. Moonje and Lajpat Rai rejected any reconciliation with
the Muslim League.

Choose the correct answer from the options given below:

1. A and B only

2. A Band Conly
3.A B, Cand D only
4. A, B, Cand E only

1) 1
(2) 2
(3) 3
(4) 4




Fafaied H 4 @14 &Y 981 87

A, 31 SRR & 99 & ©0 H daedl &1, 1906 5 & [l

p. fafer yRa o 7ameR 1923 ¥ g [GumayT & g9 gul

C. foar= 1923 H S(Rifod AER SdeH o G i ®f GHsillad - W =H dbisd a1 ol
D. 1923 @ @G 973 TRaS e &I FHF Tl IR S1UY & 91y U1 g1 -1 381 9red Y|

£. e HIg AIa 1Y, J1.0H. Hroi SR Teiud 0 oY §g AeHI & Hawdl - HReH AT & 91 e Wi 59 B e B
fear

i feu e fasdheal 5 U U8l IR 94 -
1. ®Had A AR B
2.HaAA, B AR C

3. BATA, B, C 3R D
4, BAAA, B, C AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=27357] Question Description : dwbv_pg_his_eng_2_q64
2[Option ID=27358]
3[Option ID=27359]
4[Option ID=27360]

Sl. No.65
QBID:6065

Which of these are correct:

A. Mahatma Gandhi edited "Indian Opinion" during his South African days.

B. Judith Brown wrote 'Gandhi's Rise to Power: Indian Politics, 1915-22.

C. Judith Brown gave the sub-contractor theory regarding mobilising of support by Gandhi in regional areas.
D. Anusuya Sarabhai was the President of the Ahmedabad Mill Owners’ Association.

E. Mahatma Gandhi started "All India Anti-Untouchability League”.

Choose the correct answer from the options given below:

1. A and B only

2. A Band Conly
3.A B, Cand D only
4. A, B, Cand E only

1)
(2)
(3)
(4)

A W N R




I U DH-4 Tel 87
A. 30 EIR0T BT H T8 & GRH HeTH! Wil A 13057 sifafga o1 dure B
B. Sf8Y T3 A it 5o € U UsaH Uifdiead, 1915-22° TH® G&® @i |
C. Jifey a8 A ®IFY &Ft # i waiifa e (@O & Y6y | 9u-sdeR fsia & Ugd faan
D. A9 URIETs HEHGEIG [Ha IR TIryueH o s 411
E. FETHT TMIE 7 e YR ST Seauiaferd] o &1 Yo o1
i< f&T 70 fadedi # 9 981 ST I -
1. ®ad A 3R B
2. Bad A, BIHRC

3.BAAA, B, C 3R D
4, BATAA, B, C HRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27361] Question Description : dwbv_pg_his_eng_2_q65
2[Option ID=27362]

3[Option ID=27363]
4[Option ID=27364]

Sl. No.66
QBID:6066

Match List | with List 11

List | List Il

A. Vachaspati |l. Upadesasdahastri
B. Padmapada|ll. Khandanakhandakhadya
C.Srtharsa |l Bhamatl

D.Samkara |IV. Paficapadika

Choose the correct answer from the options given below:

TA-IW,B-ILC-1,D-1lI
2ZA-NLB-IV,C-1I,D-1
3A-ILBE-1L,C-1V,D-1
4A-IV,B-1.C-1II,D-1

1) 1
(2) 2
3) 3
(4) 4




-] -1l

A, AEEOd |. SUCTEIEEI
B. U3IUTS I EeAEsEd
c. ggd 1. M

D. X V. O=aTieast
i feu e fadenl # 9§ 9gl 3w gHU :

TA-IV,B-1l,C-1, D-1I
2ZA-NL,B-IV,C-1l, D-1
LA-ILB-1L,C-IV, D-1l
4A-IV,B-1.C-1ll, D-1

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27365] Question Description : dwbv_pg_his_eng_2_q66
2[Option ID=27366]

3[Option ID=27367]
4[Option ID=27368]

Sl. No.67
QBID:6067

Match List I with List Il

List | List 1l

A. Pattinappalai  |I. Siva kotyacharya

B. Medunalvadai  |Il. Nripatunga

C. Kavirgiamarga |lll. Rudran Kannanar
D. Vodda-aradhanallV. Nakkirar

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1
2ZA-1ILB-1LC-IV.D-1I
.A-LB-N,C-ILD-1V
4 A-NLB-IV,C-1I,D-1

(1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l T -1l

A. OfgAUTeS REEEAEIEIR]
8. qgqaans 11, FadT

C. BiGAeHR] lll. 35 HUHR
D. ST ARIYAT IV, FFDIRI
i feu e fadedl § 9 9al IR 90

TA-IIIL,BE-IV,C-1, D-1
2ZA-ILB-LC-IV, D-1I
3.A-LEBE-NILC-1, D-IV
4 A-NLB-IV,C-1l, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27369] Question Description : dwbv_pg_his_eng_2_q67
2[Option ID=27370]

3[Option ID=27371]
4[Option ID=27372]

Sl. No.68
QBID:6068

Match List I with List Il

List 1 List Il

A. Sarasvatl |l. Surgeon, Charioteer, Sailor

B. Sinivali  |ll. Potter, Fabricator

C. Asvins 111, Artist, Poet

D. Visvarupal|lV. Entertainer

Choose the correct answer from the options given below:

T.A-ILB-LC-1,D-1V
2ZA-NLB-IV,C-1,D-1
A-VEB-U,C-L,D-
4A-NLB-1,C-1,D-1V

1) 1
(2) 2
(3) 3
(4) 4




-l -l

A, FIET |. TAdfd D, IRYT, Aifd®
8. foaet . BRR, Fafar

C. % |II. DATBR, Did

D. [dy®&y V. T AT (G )
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-IL,B-1,C-1l, D-1IV
2ZA-NLB-IV,C-1, D-1
A-IV,B-IILC-1, D-1
4 A-NLB-1,C-1, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27373] Question Description : dwbv_pg_his_eng_2_q68
2[Option ID=27374]

3[Option ID=27375]
4[Option ID=27376]

Sl. No.69
QBID:6069

Match List I with List Il

List 1 List Il
A. Death of Ali Adil Shah l. 1564
B. Death of Murtaza Nizam Shah Il. 1588

C. Four missions were sent to Deccan by Akbar|lll. 1580

D. Marriage of Chand Biwi V. 1591

Choose the correct answer from the options given below:

T.A-ILB-ILC-1IV,D-I
2ZA-LB-IV.C-1I,D-1I
3.A-IVB-LC-NL,D-1
4A-1ILBE-LC-IV,D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gafed S

gl -l gl -l
A, 3l e 98 D g 1. 1564
8. TcioTl (-oid X8 @1 g II. 1589
C. IR TH2H cFdh 4o 1 o IIl. 1580
D. dicadl @I fadre V. 1591
o feu e fadeal # 9§ Ugl 3T gHU :

TA-IL,B-I,C-1IV, D-1
2ZA-LB-IV.C-Il, D-1
3.A-IWV,B-LC-1I, D-1
4A-1LB-1LC-IV, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27377] Question Description : dwbv_pg_his_eng_2_q69
2[Option ID=27378]

3[Option ID=27379]
4[Option ID=27380]

Sl. No.70
QBID:6070

Match List | with List I

List | List 11

A. Barawardi |I. Taxfree land

B. Sayurgal  |Il. Public treasury

C. Altamga  |lll. A recruit on ad-hoc pay

D. Bait-ul-mal|lV. Permanent revenue assignment to an assignee’s family in his native place.

Choose the correct answer from the options given below:

T.A-LB-IL,C-IV,D-1
2A-1LB-1,C-IV,D-1
A-ILB-IV,C-1,D-1I
4A-IV,B-LC-ULD-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gafed S

gl -l T -1l

A GREGT || DR g HH

BT Il GESH® Ao

- i1, Ted yaH )R FfE

D. aqaErd IV, TR & UNaR &l 396 Ja ®IH H R e B
HTEc

< feu e fadent § 9 98 SR g

TA-L,B-III,C-1IV, D-1
2ZA-NLB-1L,C-IV, D-1
A-ILB-IV,C-1, D=1l
4A-IV,B-LC-1Il, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=27381] Question Description : dwbv_pg_his_eng_2_q70
2[Option ID=27382]
3[Option ID=27383]
4[Option ID=27384]

Sl. No.71
QBID:6071

Match List | with List Il

List | List Il

A. Kalhana I. Ain-i-Akbari

B. Shaikh Sikandar|ll. Rajatarangini

C. Abul Fazal . Mirat-i-Sikandari

D. Khafi Khan V. Muntakhab-ul-Lubab

Choose the correct answer from the options given below:

TA-ILB-IN,C-1L,D-IV
2ZA-1LB-N,C-1V,D-I
3A-NLB-1L,C-1V,D-1
4.4-1LB-N,C-IV,D-1

1)
(2)
(3)
(4)

A W N =




-] -1l

A BTl |. 313 Sfpad]

B. TG fodax II. IreTafaoft

C. 3gd bald I11. fFrTa-u-faaded
D. @Ihl @H V. HeaTe-3al- g
i feu e fadedl § 9 9al IR 90

TA-II,B-1I,C-1, D-1IV
2ZA-ILB-NL,C-1IV, D-1
3.A-ILB-ILC-1IV, D-1
4A-LB-NI,C-IV, D-1

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27385] Question Description : dwbv_pg_his_eng_2_q71
2[Option ID=27386]

3[Option ID=27387]
4[Option ID=27388]

Sl. No.72
QBID:6072

Match List I with List Il

List 1 List Il

A. The Hunter Education Commission|l. 1882-83

B. The Sadler University Commission |Il. 1917-19

C. The Hartog Committee 1. 1944

D. Sargeant Plan of Education IV. 1929

Choose the correct answer from the options given below:

TA-LB-ILC-1V,D-1
2ZA-LB-ILC-U,D-IV
.A-LB-NL,C-ILD-1V
4A-NLB-1,C-1,D-1V

(1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

Tl -l T -1l

A. B TR S 1. 1882-83
8. SeoR Qufaemg smam 1. 1917-19
C. gleT uifd 1l 1944
D. YRuie FAaT gt V. 1929
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-I,B-I,C-IV, D-1ll
2ZA-LB-ILC-1, D-IV
3.A-LEBE-NILC-1, D-IV
4 A-NLB-1,C-1, D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27389] Question Description : dwbv_pg_his_eng_2_q72
2[Option ID=27390]

3[Option ID=27391]
4[Option ID=27392]

Sl. No.73
QBID:6073

Match List I with List Il

List 1 List Il

A. Swadesamitran|l. G. Subramaniya lyer
B. Indian Mirror |Il. N. N. Sen

C. Advocate lll. G. P. Verma

D. Mahratta IV. G. G. Agarkar

Choose the correct answer from the options given below:

TA-IW,B-IILC-1,D-1
2ZA-NLB-1,C-1IV,.D-1
3.A-LB-ILC-1V,D-1I
4A-LBE-ILC-U,D-1V

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gafed S

gl -l T -1l

A, TCHHEFA |, Sil. GEHY SER
8. 3feTa i IL 09 T, T
C.Ugdidbe |11, <ft. gt gt

D. Hg Xl V. Sfl. Sl SR
o feu e fadeal # 9§ Ugl 3T gHU :

TA-IV,B-1Il,C-1l, D-1
ZA-NLB-1,C-1V, D-1
3.A-LEB-ILC-IV, D-1lI
4 A-LB-1ILC-1, D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=27393] Question Description : dwbv_pg_his_eng_2_q73
2[Option ID=27394]
3[Option ID=27395]
4[Option ID=27396]

Sl. No.74
QBID:6074

Match List | with List I

List | List Il

A. Dada Saheb Phalke|l. Mohini Bhasmasu
B. Vijay Bhatt Il. Ram Rajya

C. Master Winayak  |lll. Brandi Ki Botal
D. V. Shantaram IV. Duniya Na Mane

Choose the correct answer from the options given below:

T.A-LB-ILC-IV,D-1I
2Z2A-IW,B-1,C-1LD-1I
A-ILB-LC-H,D-1IV
4A-LE-ILC-1,D-1V

1)
(2)
(3)
(4)

A W N R




Tt -1 B gt -1 o gafed S

gl -l I -1l

A. TIGT HIgE Bledh | A1 4R
B. fawim vz II. I T

C. AR fa® I, SIS @I dida
D. dl. TIfARH WRAEUIERSIE

o feu e fadeal # 9§ Ugl 3T gHU :

TA-I,B-I,LC-IV, D-1ll
2ZA-IV,B-1,C-1l, D-1I
A-ILB-1L,C-1, D-IV
4 A-LB-1ILC-1, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27397] Question Description : dwbv_pg_his_eng_2_q74
2[Option ID=27398]

3[Option ID=27399]
4[Option ID=27400]

Sl. No.75
QBID:6075

Match List | with List I

List | List Il

A. Punjab Hindu Sabha I. P. Mitra

B. Swadesh Bandhav Samiti|ll. V. D. Savarkar

C. Mitra Mela lll. Ashwini Kumar Dutt

D. Anushilan Samiti IV. U. N. Mukerji and Lal Chand

Choose the correct answer from the options given below:

T.A-LB-ILC-1,D-1V
2.A-IW,B-NILC-1I,D-1
3.A-IVB-ILC-ULD-1
4A-IV,B-LC-1I,D-1I

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gafed S

gl -l o -l

A, USTE f=g Il 1. O, &

B. Wo ¥ siyg uiifa 11, 1. . gravan

. da . 3% AR <

D. H3EieH Fibfa IV. 4, U, gdhail AR aId 96
o feu e fadeal # 9§ Ugl 3T gHU :

TA-L,B-II,C-1I, D-1IV
2ZA-IV,B-1ILC-Il, D-1
3A-IV,B-ILC-1I, D-1
4 A-IV,B-1,C-1l, D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=27401] Question Description : dwbv_pg_his_eng_2_q75
2[Option ID=27402]
3[Option ID=27403]
4[Option ID=27404]

Sl. No.76
QBID:6076

Arrange the following Sufnga dynasty rulers chronologically:
A. Pushyamitra

B. Vasumitra

C. Pulindaka

D. Agnimitra

E. Devabhumi

Choose the ecorrect answer from the options given below:

1.ADBEC
2.ADCBE
3.A,D, B, CE
4.D,B CAE

1)
(2)
(3)
(4)

A W N B




RFTGEI D | &I BIAHHITIR HdRyd i
A, T&HT
B. agfTA

C. g
D. HfEA

£, S

id feu e fadhedl § 9 Ugl IR 94 -
1. A-D-B-E-C
2. A-D-C-B-E

3. A-D-B-C-E
4. D-B-C-A-E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27405] Question Description : dwbv_pg_his_eng_2_q76
2[Option ID=27406]

3[Option ID=27407]
4[Option ID=27408]

Sl. No.77
QBID:6077

Arrange the following books in their chronological erder of publication.
A. Hemchandra Raychaudhuri - Political History of Ancient India.

B. R. C. Majumdar - Ancient [ndia.

C. A. S. Altekar - The Position of Women in Hindu Civilization

D. K. P. Jayaswal - Hindu Polity

E. P. T. S. Aiyangar - History of Tamils to 600 A. D.

Choose the correct answer from the options given below:

1.ABCED
2ZACEDB
3.ADECE
4B, C D EA

(1) 1
) 2
3) 3
(4) 4




FafeRad e oI 3-d YH=H a4 & oH H foRd

A BH95 1 e, Uifdiesa B oiie URig= $fsa

2. 1. . FoAeR, U= shea

C. T U9, Ay, & urofizm i 6t 3 fiwg Rafaamgorem
D. &. Ul. Sirgard, fg=g uiferd]

E. U1 21, 0. 3R, fge! e affed € 600 T BT,

<< feu 7Te fadeal 5 9 98l SR 9 -

1. A-B-C-E-D
2. A-C-E-D-B
3. A-D-E-C-B
4.B-C-D-E-A

1)
(2)
(3)
(4)

A W N R

1[Option ID=27409] Question Description : dwbv_pg_his_eng_2_q77

2[Option ID=27410]
3[Option ID=27411]
4[Option ID=27412]

Sl. No.78
QBID:6078

Arrange the following Ceylonese Kings of Vijay dynasty in a chronological order:

A.Elara

B. Abhaya

C. Vijaya

D. Uttiya

E. Pandu Vasudeva

Choose the correct answer from the options given below:

1.C,EB D A
2.CEDBA
3.CADEB
4. EBACD

(1)
(2)
(3)
(4)

A W N R




HiaH & foo 3931 & o] @ dIasd § gu|
A TERI

B. YT
c.fawm
D. 340

E. UIUg 99ed

i feu 7 fadhedl § 9 UEl IR 94 :
1.C.E B, DA
2.C,EDBA

3.CADEB
4.EBACD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27413] Question Description : dwbv_pg_his_eng_2_q78
2[Option ID=27414]

3[Option ID=27415]
4[Option ID=27416]

Sl. No.79
QBID:6079

Arrange the following acitivities of East India Company in a chronological order-
A. Mahalwari Regulation issued

B. GIP Railway Company formed in London

C. First coal-mine opened at Ranigan;

D. Abolition of slavery in India

E. Second Opium War begins

Choose the correct answer from the options given below:

1.C,ADBE
2B EADC
3.3AMCBED
4.0, ECBA

(2) 2
3) 3
(4) 4




3% sl Bl & FEfaied sriGa! &f eTarHH H Hafed DI
A. HEqdrs! faad &1 fAuig
B. T | it 35 U1 &1 &1 6

C. TS H yuH Sd S GH B LEH
D. HRd H GHHdl 3+
E. T&dlT oMp1H g &1 Y&
i< f&T 70 fadedi # 9 981 ST I -
1.C,A D,B,E
2.B,EAD,C

3.ACBED
4.D,ECBA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27417] Question Description : dwbv_pg_his_eng_2_q79
2[Option ID=27418]

3[Option ID=27419]
4[Option ID=27420]

Sl. No.80
QBID:6080

In the context of 13-14th century arrange the following in chronological order:
A. First Mongol invasion during reign of Alauddin Khilji.

B. Marco Polo visits Malabar coast.

C. Ibn Battuta in India.

D. Alauddin Khilji's price control measures.

E. Muhammad Tughlag's token currency experiment.

Choose the correct answer from the options given below:

1.A B D CE
2.B,ADEC
3.C,DAEB
4.D,B A CE

1)1
(2) 2
(3) 3
(4) 4




1397 - 14 df 9l & dey # FufaRad @ eersd § aiyd il

A, HASEH aeell & IMEHIE & GRF W T HHH0

B. HIe! UTeil BT HIAIER d¢ W A
C. 39 Sqd1 & YR HRTEA
D. He3E [ el &l Jeg a0 R
E. qoHIE JICI® ®I Fidtad gal WarT
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.A,B,D,CE
2.B,ADEC

3.CDAEEB
4.D,B A CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27421] Question Description : dwbv_pg_his_eng_2_q80
2[Option ID=27422]

3[Option ID=27423]
4[Option ID=27424]

Sl. No.81
QBID:6081

Arrange the rulers as per their chronological order:

A. Muizzuddin Kaiqubad

B. Shamsuddin Itutmish

C. Alauddin Khilji

D. Ghiyasuddin Balban

E. Jalaluddin Khilji

Choose the correct answer from the options given below:

1.A B D CE
2.B,DAEC
3.CEBAD
4.0, A B EC

1) 1
(2) 2
3) 3
4) 4




FufciRad Ig®! &1 39d BIarsd § Hafyd difeg:
A TSR BHAG
B. TFHE I Jogdiaal
C. HAR3E A Raca
D. TAgEH ciad
A= NINARREENE]
i< f&T 70 fadedi # 9 981 ST I -
1.A B DCE
2.B,D,AEC

3.CEBAD
4.D,A B EC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27425] Question Description : dwbv_pg_his_eng_2_q81
2[Option ID=27426]

3[Option ID=27427]
4[Option ID=27428]

Sl. No.82
QBID:6082

Arrange the following events in a chronclogical order:
A. The Supreme Court was constituted with Hyde as one of the puisne judges.

B. The power given to Governer General to override his council was extended to all future Governor Generals and
Governors.

C. Rules and regulations made by the Governal General in the Council were not to be registered with the Supreme Court.
D. The Board of Control was established.

E. Governor General was given the powers of both the Governor General and the Commander in Chief.

Choose the correct answer from the options given below:

1.A B, CDE
2.A,CDBE
3.ACEDEB
4. A CDEEB

1) 1
(2) 2
(3) 3
(4) 4




FufiRad ge-si @ HIasHIaR Haieyd Hife|

A. % AR A (U9 o) & €9 H 858 & 914 I=dad JrEed o1 164 a1 7141
B. 15 SR b URYE R W U RIS Tiad Pl IR HIdl Ta-1 SRe AR TaR1 dab & |
C. 71a-R iR URug gRI (HHd ot ok fafgal of Swaa <amrey # deligd el fdal 91 91z
D. Fdam a3 &t wig &1 T3 Al
E. TG o Rd @I 16-R 9-Ra 3R TA19Td (PHSI-54-91%) GHF @ Maad] WaH @1 T3 |
=< feu 7Tu fadedl § 9 U8l SR 9 -
1.A,B,C D,E
2.A,C,D,BE

3.ACEDEB
4.4 CDEEB

1)
(2)
(3)
(4)

A W N R

1[Option ID=27429] Question Description : dwbv_pg_his_eng_2_q82
2[Option ID=27430]
3[Option ID=27431]
4[Option ID=27432]

Sl. No.83
QBID:6083

Arrange the following in a chronological order:

A. Death of Nana Fadnavis

B. Vellore Mutiny

C. Wellesley annexes Carnatic

D. Malcolm's Mission to Persia and Elphinstone's Mission to Kabul
E. Treaty of Bassein

Choose the correct answer from the options given below:

1.A B, CDE
2ZACEBD
3.ACEDB
4. A B D CE

(1)
(2)
(3)
(4)

A W N R




FufiRad & BIaPHIUR ARy Bif:

A, THT BSEE &1 5

B. dtuiR faslE

C. dctsclt 4 BHICH DI Dol H el

D. Hlco H BRY [F7H R Ufelh=2lH Siga [HH
E. GEH P Y

i< f&T 70 fadedi # 9 981 ST I -

1.A B CDE
2ZACEBD
3.ACEDB
4.4 B D CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27433] Question Description : dwbv_pg_his_eng_2_q83
2[Option ID=27434]

3[Option ID=27435]
4[Option ID=27436]

Sl. No.84
QBID:6084

Arrange the following events relating to Mahatma Gandhi in a chronological order.

A. Gandhi met Marshal and Madame Chiang Kai-Shek at Calcutta.

B. Gandhi met Cripps and described his proposals as “a post-dated cheque®.

C. Mahatma Gandhi restarted Harijan weekly, after a lapse of 18 months.

D. Gandhi addressed the All India Cow Protection Conference at Nagpur.

E. Mahatma Gandhi while addressing convocation of Benaras Hindu University, paid tribute to work of Pandit Malviya.
Choose the correct answer from the options given below:

1.C,EABD
2.CEDAB
3.EADCEB
4 EACDEB

1)1
(2) 2
(3) 3
(4) 4




TR N4 I Yafid FafiRad gersi & SIasHIuR oaied Sifu|
AT A il § JEid R 389 I B5-TP 9 He B
B. TTisl < oy W e B 3R I Ual Bl U IR [GAiiopd dob” Bl Tl ol
C. HETHET T = 18 HIE B YHING & §1¢ "gReiH didciie” ®I §H: YR fdbaT|
D. T 7 fREe HRATE T1-E&0 ST S Galid i
E. T e 3 91k fog fauiga & cieid THRIE S Halltd H3d gU UiSd Aeald & ST $1 ULl &
i< f&T 70 fadedi # 9 981 ST I -
1.C,E A B,D
2.CCEDAB

3.EADCEB
4.EACDEB

1)
(2)
(3)
(4)

A W N R

1[Option ID=27437] Question Description : dwbv_pg_his_eng_2_q84
2[Option ID=27438]
3[Option ID=27439]
4[Option ID=27440]

Sl. No.85
QBID:6085

Arrange the following in a chronological order:

A. Revolt of 1857 at Sultanpur

B. Revolt of 1857 at Saugar

C. Jhansi falls to the British

D. The rebels defeat General Windham outside Kanpur

E. Tantia Tope escapes

Choose the correct answer from the options given below:

1.A B EDC
2.B A CDE
3.ABDEC
4B, A D EC

(1)
(2)
(3)
(4)

A W N R




FufiRad & BIaPHIUR ARy Bif:

A GedFR § 1857 @1 fagig

B. MR # 1857 @1 fagie

C. Zidl fafezr & 3 g1

D. fasifedl 9 IR & a1e Rd fd=H @I giferd far

£, i 20 59 ©X Y1 A@d

i feu 7 fadhedi H U Ugl IR 94 -
1.4, B, E D, C
2.B,ACDE

3.ABDEC
4.B,A D EC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27441] Question Description : dwbv_pg_his_eng_2_q85
2[Option ID=27442]

3[Option ID=27443]
4[Option ID=27444]

Sl. No.86
QBID:6086

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): Chola King Rajendra expanded his kingdom through his powerful maritime expeditions into Sumatra and
Malaya, but later lost interest in further campaigns.

Reason (R): Later Cholas got involved in wars with the Chalukyas and had to withdraw their troops back to the mainland.

In light of the above statements, choose the meost appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4, (A) is not correct but (R) is correct.

(1)1
(2) 2
(3) 3
(4) 4




Gl By UL § : U@ AHDYA (Assertion A) & ¥4 H [aRdd ¢ dl GIRT 39d BRI (Reason R) & &Y H:

HIGYA (A) - TS Tel=% - GHET U4 A1a H 201 Gt H19-1 HAHgH! o J1e9H § 304 9H &1 f9wR [, g
TG & 3G A | S5 ofd 78! [eaaT|

DRU (R) : §1C dlcl WA Bl H did AN 1! & 1Y Z H 0% 5l 1T 3R Ig U 1 DI TEAHH 999 g1 LT
SR HYH & HIdid H, -iid 5T N docd § ¥ Tad 3uged I &I 99 DI -

(A) 3R (R) GHI W1 € 3R (R), (A) BT WE BN B1
. (A) 3R (R) TFT 81 8 TR (R), (A) P e ARAT T&1 &
(A)
(A)

TEl 8 U (R) Wl T €
el 981 8 13 (R) WE1 &

1[Option ID=27445] Question Description : dwbv_pg_his_eng_2_q86
2[Option ID=27446]
3[Option ID=27447]
4[Option ID=27448]

Sl. No.87
QBID:6087

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Akbar gave the Mughal empire its immensely systematic and centralised structure.
Reason (R) : He was able to establish claim to universal land ownership in India.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (A) is false but (R) is true.

1) 1
(2) 2
3) 3
(4) 4

T E P RUTUE: @ &l HUHYH () R GO @I 9o (R) Pel T8l

HIHYA (A) : HBER - TS U Bl 39D AP Goaaidd SR Bidpd G3a-1 UeH B |
dd (R) : 98 YRd § GaHIH® Y-@Iid @&l g1l B H G&H oIl
SUdad Yl & HII® | FHifced [doedl H § Hel Sl 1 ;

1. (A) AR (R) THT T & IR (R), (A) BT W1 ARATR |

2. (A)aﬁ?gR)aﬂ:ﬁHﬁ%Dﬁ(R), (A) DT Tl oarEd Tol ol

3. (A) W61 & 0Rg (R) W1 el &

4. (A) Hel 981 & U3q (R) T8l o




1[Option ID=27449] Question Description : dwbv_pg_his_eng_2_q87
2[Option ID=27450]
3[Option ID=27451]
4[Option ID=27452]

Sl. No.88
QBID:6088

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Muhammad bin Tughlug showed extracrdinary consideration for foreigners and admitted them to the
highest ranks in his administration.

Reason (R) : Under Muhammad bin Tughlug, the character and composition of the ruling class was not changed.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1)1
(2) 2
(3) 3
(4) 4

Gl B GUIU R : U@ S{fHBYA (Assertion A) & ©U H fARad € d GERI 3H® BRY ( Reason R) & EU H :
HBYA (A) : TEHTE foF o - faeiRat g Sgd I9H Wil fama ok 9 - UeH o 3 Ual uR =it fan|
BRI (R) : HEHG [6- e o XA dId § A &1 & 914 AR G924 H Rac Tgf gefl Ul

SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2.(A) 3R (R aﬁfﬂﬁ‘l%uﬁ )aﬂuawqﬁ%
3. (A) WBI 8 IR R}“ﬂ%ﬁﬁ%l
4. (A) WEI T8I 8 13g (R) WEI &
1) 1
) 2
3) 3
(4) 4

1[Option ID=27453] Question Description : dwbv_pg_his_eng_2_q88
2[Option ID=27454]
3[Option ID=27455]
4[Option ID=27456]

Sl. No.89
QBID:6089




Given below are two statements:

Statement I: In August 1942, Mahatma Gandhi was arrested under the Defence of India Rules, following the Quit India
resolution and lodged in the Yervada jail.

Statement II: In January 1932, Mahatma Gandhi was arrested under the Bombay Regulation of 1827 and interned in the Aga
Khan Palace, Poona.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4

TR FYE RTINS

HY - | : HETH el D YR SIS UHd1d & 916 URd @1 UicRan Fodf & 3idifd 3md, 1942 & RUaR far man 2R adar
EREESEIRIeI R

T - || - TSI e DI 1827 B & 0 & 3fcid oad! 1932 H FRUR v T SR O1 RUq ST e Uerd & @1 a1
Tl

S T 3 e # Rrafafed fwe 3 8 w8 SR
1. Y1 3R 1S FE R
2. ®YA | 3R 11 ST Tad §

3.9 1 qd e, g @y 1 Tad B |
4. 3TA e, Hg A 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27457] Question Description : dwbv_pg_his_eng_2_q89
2[Option ID=27458]

3[Option ID=27459]
4[Option ID=27460]

Sl. No.90
QBID:6090

Given below are two statements:
Statement |: The Pandya ruler, Mudukudumi Peruvaludi, is called Param Bhagavata.

Statement |I: The Chera King, Perum Seral Adan, who joined the Pandya ruler against Karikala, was wounded and starved
himself to death in the battlefield by way of expiation.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.




1) 1
(2) 2
(3) 3
(4) 4

IR EIC AT =S

DY - | : UIUSY XD HgPGH! Udicial dl URHHRIG bl Sldl g

DU - 11 : TR WD USH IR 3 el DR & [d9s Uy Aea! 4 941 @ o, waiisd & 91994 9 9 &3 H Y@l
TEPH Hg BT 9201 fvdr oIl

I HYT & HIclie | i feU 7Y fadedi § ¥ Y9l IUgd 3R &1 99 il :

1.9 1 3R 1| GH 9E B
2. @Y | AR 11 G TEd & |
3.5Y 1 9 B, [P HYH 1 TEd & |
4. T A T, g oy 0 T8 2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27461] Question Description : dwbv_pg_his_eng_2_q90
2[Option ID=27462]

3[Option ID=27463]
4[Option ID=27464]

Sl. No.91
QBID:6091

Read the given passage and answer the questions that follow.

Ramanuja, a brahman who taught in the great temple of $rirangam is said to have lived from 1017 to 1137, but the first date
is in all probability several decades too early. Like Sankara, he taught in many parts of India, and claimed to base his
doctrines on earlier sources, writing lengthy commentaries on the Brahma Sutras, the Bhagvad Gitd and the Upanisads.
Ramanuja's system was founded on that of the Paficaratras, but his emphasis was rather different. He admitted the
usefulness of ritual observances, but only in a qualified measure, and he also admitted Sankara’s doctrine of salvation by
knowledge, but declared that those 50 saved would find a state of bliss inferior to the highest.

== fu e w5 ufde wE S W snunfyd uat %1 3w difere

S S o @i | §rer 4, 9 e FRyd yoowfe | uae (e &d 41 39d 9 | &8l 9dl & & d 1017 ¥ 1137 d@ willad
T fird 3T®! Ugell dNNG ifadiyad: 33 o Id @1 gl YR & dRe S HRd & b3 HFT § Uaad (e f&ar 3R 3=
TG, WTag a1 AR SufEEl IR Tdl Awl faeH & wA B 30 fOSial @1 Sfedd w@ial W S 814 @1 & e
IS BT d1E (USH) URRE TR AR o1 fid S5 Sl fid 9d 1R 94 fea11 IH dHobis & Ui ©1 SUTIRTal ®f Widia
i ¢t fivg guia: A8l 1R 35 H & AIEH U Higl UId &3 daefl =AHR & gid @f W WioR o fbg 3wl giwn @, e
S i & HWel (3RFT) Afdaal @f WA 3 (@) ¥ U @181 3G U gl Fd|

What system of philosophy (doctrine) did Ramanuja propound?

1. Dvaitadvaita Vedant
2. Vishistadvaita Vedant
3. Dvaita Vedant

4. Advaita Vedanta

(1) 1




) 2
3) 3
(4) 4

TS A &8F ((9Sia) & 1H-4 916 (daid) &1 Wiauied faar

1. 5d-31gd dard
2. fafaiered dar
3. gd dard

4. 3igd dad

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27465] Question Description : dwbv_pg_his_eng_2_q91
2[Option ID=27466]

3[Option ID=27467]
4[Option ID=27468]

Sl. No.92
QBID:6092

Read the given passage and answer the questions that follow.

Ramanuja, a brahman who taught in the great temple of Srirangam is said to have lived from 1017 to 1137, but the first date
is in all probability several decades too early. Like Sankara, he taught in many parts of India, and claimed to base his
doctrines on earlier sources, writing lengthy commentaries on the Brahma Sitras, the Bhagvad Gita and the Upanisads.
Ramanuja's system was founded on that of the Paficaratras, but his emphasis was rather different. He admitted the
usefulness of ritual observances, but only in a qualified measure, and he also admitted Sankara's doctrine of salvation by
knowledge, but declared that those so saved would find a state of bliss inferior to the highest.

2 T 7o e Bt ufdw vd 29 R snuthia wel @1 IR difvr

S S o Si1id © @Teor 4, d SR Ryd yewic H yaeH ([R1gm &d 41 39d 9 | Sl 9l & 16 d 1017 U 1137 db willad
e g U@ gl aiia sfddyad: T3 oo Jd @i ol MW &I a¥e o HRd & ds YN & uaa- (=iam faan ok 3=
A, Wag il R SuFYEl W ddl @l foeH & wH | e [asial @ <1fedda w@ial W Suid 8iH @1 g e
I B A6 (YGId) U UR eI of fig S5H S9d e dd W ad [6a1l 35 dH®IS o UleH &1 SUdiRTdl & Widid
1 &1 fbg quia: 7181, 3R 3511 9 & A1 T Hia W 3 gadl Ao & [GGid @1 off WieR e fihg 35 amen @, &
U i & Hel (3RFT) Afdad! &l IRE < (G9) ¥ FHUSR 3181 3 W gl b

What was the name of Ramanuja's commentary on Brahmasatras?

1. Vedantasamgraha

2. Shribhashya (Sribhasya)
3. Brahmasatrabhasya

4. Vedantadipa

1) 1
() 2
3) 3
(4) 4




IS §RT SEHYF W et it Sapt &l A &1 62

1. dea9TE
2. 4T

3. FEHEIIT
4. 9egg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27469] Question Description : dwbv_pg_his_eng_2_q92
2[Option ID=27470]

3[Option ID=27471]
4[Option ID=27472]

Sl. No.93
QBID:6093

Read the given passage and answer the questions that follow.

Ramanuja, a brahman who taught in the great temple of Srirangam is said to have lived from 1017 to 1137, but the first date
is in all probability several decades too early. Like Sankara, he taught in many parts of India, and claimed to base his
doctrines on earlier sources, writing lengthy commentaries on the Brahma Sutras, the Bhagvad Gitd and the Upanisads.
Ramanuja's system was founded on that of the Paficaratras, but his emphasis was rather different. He admitted the
usefulness of ritual observances, but only in a qualified measure, and he also admitted Sankara’s doctrine of salvation by
knowledge, but declared that those so saved would find a state of bliss inferior to the highest.

= faw 7T T # ufev ve 59 W snutiva ust %1 9w difse

I S o T | ST o, d S Ryd Hegwfe | uae (&) &d 41 34d 9 | &8l 9idl 8 & d 1017 ¥ 1137 d uiiiad
¢ fd 3Ua! Uedl diiE fadyad: T3 cU® U8 @ 8| MR 31 a¥e S5 YRd & s YT § ug= (Rrem far o 3=
T, Wag ar SR Sufvel W ddl et foen & w0 1 oA fasial @ enfeerd= w@ial W snufid g1 &1 gran faan
IS P d1g (UGId) URE UR 1eIRd T g S5 So e dd WR a4 16411 35 SHBIS o Ul &1 SudiRTal & Widid
dl &t fbg quick: 7181, 3R I T & H1eH ¥ Higf UId B Faefl ¥R & fGgid o i WioR o i 3= uiwon 1, fe
3 T & Wel (SFRET) Safadl @f Y =< (9) 9 F9ER @1 81 AF< Ud & 9& |

In which city did Ramanuja teach his philesophy?

1. Kanchipuram
2. Tanjavur

3. Srirangam

4. Madurai

(1) 1
(2) 2
(3) 3
(4) 4




A o TR H U g2i4 31 e wa=q) feanr

1. DIIGH
2. duiR
3. 9

4.7G%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27473] Question Description : dwbv_pg_his_eng_2_q93
2[Option ID=27474]

3[Option ID=27475]
4[Option ID=27476]

Sl. No.94
QBID:6094

Read the given passage and answer the questions that follow.

Ramanuja, a brahman who taught in the great temple of Srirangam is said to have lived from 1017 to 1137, but the first date
is in all probability several decades too early. Like Sankara, he taught in many parts of India, and claimed to base his
doctrines on earlier sources, writing lengthy commentaries on the Brahma Sutras, the Bhagvad Gitd and the Upanisads.
Ramanuja's system was founded on that of the Paficaratras, but his emphasis was rather different. He admitted the
usefulness of ritual observances, but only in a qualified measure, and he also admitted Sankara’s doctrine of salvation by
knowledge, but declared that those so saved would find a state of bliss inferior to the highest.

= faw 7T T # ufev ve 59 W snutiva ust %1 9w difse

I S o T | ST o, d S Ryd Hegwfe | uae (&) &d 41 34d 9 | &8l 9idl 8 & d 1017 ¥ 1137 d uiiiad
¢ fd 3Ua! Uedl diiE fadyad: T3 cU® U8 @ 8| MR 31 a¥e S5 YRd & s YT § ug= (Rrem far o 3=
T, Wag ar SR Sufvel W ddl et foen & w0 1 oA fasial @ enfeerd= w@ial W snufid g1 &1 gran faan
IS P d1g (UGId) URE UR 1eIRd T g S5 So e dd WR a4 16411 35 SHBIS o Ul &1 SudiRTal & Widid
i €1 fobq guid: 181, 3R 35 FH & AIEH Y Hial U @3- Jael AP & [Ggid @ Wl WieR fddr fbg 3=H g @, fe
3 T & Wel (SFRET) Safadl @f Y =< (9) 9 F9ER @1 81 AF< Ud & 9& |

What did Ramanuja propose as the most efficient path to salvation (moksa)?

1. Jiidna (knowledge)

2. Prapatti

3. Upasana

4. Pilgrimage to Vishnu Temples

(1) 1
(2) 2
3) 3
4) 4

T A Hig-Uftd & Gaiies $3a 90l & U 8 64 U6 & Ufdue fear

1,94

2. ygf

3. JUREAT

4. Towy wieRT 4§ Hafed did =




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27477] Question Description : dwbv_pg_his_eng_2_q94
2[Option ID=27478]

3[Option ID=27479]
4[Option ID=27480]

Sl. No.95
QBID:6095

Read the given passage and answer the questions that follow.

Ramanuja, a brahman who taught in the great temple of Srirangam is said to have lived from 1017 to 1137, but the first date
is in all probability several decades too early. Like Sankara, he taught in many parts of India, and claimed to base his
doctrines on earlier sources, writing lengthy commentaries on the Brahma Sutras, the Bhagvad Gita and the Upanisads.
Ramanuja's system was founded on that of the Paficaratras, but his emphasis was rather different. He admitted the
usefulness of ritual observances, but only in a qualified measure, and he also admitted Sankara's doctrine of salvation by
knowledge, but declared that those so saved would find a state of bliss inferior to the highest.

2 T 7o Terrw S ufdw vd 29 W snuthia wel @1 IR difvre

RS S o @i © ST 4, d S Ryd yowic H uae (1&g &d 41 39d 9 | &gl 9idl § 6 d 1017 I 1137 dd willdd
¢ T SO@! gl aiia sfddyad: T3 c® Jd @i ol WdT @I ¥ e YRd & ds YN & uda- (fiam faan v 3=
TG, WTag i AR SuFEEl W ddl dl fReH & wH | 304 [GSidal @1 A1fE® Widl W Suid 814 &1 & @
IS D1 A6 (YS[) T IR S1eiid o fig S 5o i 9a W ad 6411 S5 TH®Is & UeH ®1 Sudinidl ®f Widid
1 &1 fbg quia: 781, SR 3511 9 & A1 T Hig W 3 Gadl Ao & [gaid @1 off ©ioR & fihg 35 amon @, &
U i & Hel (3FRFT) Safdaal @l WRH - (@) ¥ FU%R 31 61 3G W gl I

Who among the following was a teacher of Ramanujacharya?

1. Samkaracharya
2. Nathamuni
3. Nammalvar
4. Madhvacharya

1)
(2)
(3)
(4)

THMTEE & FHfkiied #§ 9 H-T6 T2 47

1. QB
2.

3. TFHAAR
4, 1A=

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=27481] Question Description : dwbv_pg_his_eng_2_q95
2[Option ID=27482]
3[Option ID=27483]
4[Option ID=27484]




Sl. No.96
QBID:6096

Read the given passage and answer the questions that follow.

When Netaji first raised the question of .N.A. participating in the proposed Japanese campaign against Imphal (in Manipur,
India), Field-Marshal Count Terauchi, the Commander of all the Japanese forces in South-East Asia, expressed unwillingness
to accept the proposal. Its soldiers, he said, had been demoralized by defeat in Malaya; they could not stand up to the
rigours of a Japanese campaign, and would have an irresistible compulsion to cross over to their old friends and easier
circumstances. He proposed that the Japanese Army should do all that was necessary to liberate India, that Bose himself
should assist by enlisting the goodwill and co-operation of the Indian population, that the main part of the LN.A. should be
left in Singapore.

FrafafE i 1 13 ok 912 g o usi & g Siftre)

S el 7 SHBIE (MR & AR H) $ faes TRariad STt $fEe § 318 .09, & 4T 34 et ugel aR U So/T df alur-
g4 Uik o aft o T & SHiSY Bics ARIA BI8e okidl - 38 Uld $1 WISR B3 & Ui H-=31 Udhe @1l I5i- dal
3% Ui &1 Hod H URIel U T TR 11 §; d $s ouFT SiiEAE & dule] iR 8 76l 30 Gibd iR 304 R B3 &1
quT 3@ MH Ul &f UR & U6 Sufarien faawan ghfl| e+ Ukdid fddl & S 991 & 98 96 &1 9let, o
YRd @1 Gfdd & U a0 & AR WU 919 I YRAY FEE] ST Gald dul YgdiT SeH gt Ud 33 .UA.U. & J8 4R &l
FHTIR 7 B &A1 718Ul

Netaji Subhash Chandra Bose proposed .N.A. participation in the Japanese campaign against Imphal to the Japanese Field-
Marshal .

1. Count Yakamoshi

2. Mount Yakohama

3. Count Terauchi

4, Commander Tellamochi

1)
(2)
(3)
(4)

Aol Y 9% 919 7 f5d WU Wics-HIRd & 99 3TBTT & (%G ST AFHTH H 3M15.07.U. & 4R 3 & URdTd T UT?
1. B3 TTHTHRT
2. A1dc TIdHIgMH
3. BT dRidl
4. BHISY CeadEt

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=27485] Question Description : dwbv_pg_his_eng_2_q96
2[Option ID=27486]
3[Option ID=27487]
4[Option ID=27488]

Sl. No.97
QBID:6097




Read the given passage and answer the questions that follow.

When Netaji first raised the question of .N.A. participating in the proposed Japanese campaign against Imphal (in Manipur,
India), Field-Marshal Count Terauchi, the Commander of all the Japanese forces in South-East Asia, expressed unwillingness
to accept the proposal. Its soldiers, he said, had been demoralized by defeat in Malaya; they could not stand up to the
rigours of a Japanese campaign, and would have an irresistible compulsion to cross over to their old friends and easier
circumstances. He proposed that the Japanese Army should do all that was necessary to liberate India, that Bose himself
should assist by enlisting the goodwill and co-operation of the Indian population, that the main part of the LN.A. should be
left in Singapore.

FrafafE i 1 13 ok 912 g o usi & g Siftre)

S el 7 SHBIE (MR & AR H) $ faes TRariad STt $fEe § 318 .09, & 4T 34 et ugel aR U So/T df alur-
g4 Uik o aft o T & SHiSY Bics ARIA BI8e okidl - 38 Uld $1 WISR B3 & Ui H-=31 Udhe @1l I5i- dal
3% Ui &1 Hod H URIel U T TR 11 §; d $s ouFT SiiEAE & dule] iR 8 76l 30 Gibd iR 304 R B3 &1
quT 3@ MH Ul &f UR & U6 Sufarien faawan ghfl| e+ Ukdid fddl & S 991 & 98 96 &1 9let, o
YRd @1 Gfdd & U a0 & AR WU 919 I YRAY FEE] ST Gald dul YgdiT SeH gt Ud 33 .UA.U. & J8 4R &l
TR 5 B3 &1 912

Field Marshal of Japan showed his unwillingness towards [LN.A. participation in the proposed Japanese campaign against
Imphal. Which one of these is NOT correct?

1. 1. N. A. soldiers were demoralized by defeat in Malaya.

2. They cannot complete the rigours of Japanese campaign.

3. They would have an irresistable compulsion to cross over to their old friends.
4. They will be easily identified as being part of the British troops.

1) 1
(2) 2
3) 3
4) 4

SIUH & Bits AR - 31 & [G0G Heandd oaFT SHEH H 38,010 & HF o & Aid S axis 4| Fefafea 59
B HYF T 67

1. 909 § W0 ¥ ARG & IS &1 J-Ed TR T gl

2.d e AgHl HEH F wfawayl 78 $ IFd 8|

3. 31 BRT 30 X ol @l UR =1 USRI faawran gt
4. 3! fafesr Tf@! & oF T & U H ATTH! J TgdH @1 S|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27489] Question Description : dwbv_pg_his_eng_2_q97
2[Option ID=27490]

3[Option ID=27491]
4[Option ID=27492]

Sl. No.98
QBID:6098




Read the given passage and answer the questions that follow.

When Netaji first raised the question of .N.A. participating in the proposed Japanese campaign against Imphal (in Manipur,
India), Field-Marshal Count Terauchi, the Commander of all the Japanese forces in South-East Asia, expressed unwillingness
to accept the proposal. Its soldiers, he said, had been demoralized by defeat in Malaya; they could not stand up to the
rigours of a Japanese campaign, and would have an irresistible compulsion to cross over to their old friends and easier
circumstances. He proposed that the Japanese Army should do all that was necessary to liberate India, that Bose himself
should assist by enlisting the goodwill and co-operation of the Indian population, that the main part of the LN.A. should be
left in Singapore.

FrafafE i 1 13 ok 912 g o usi & g Siftre)

S el 7 SHBIE (MR & AR H) $ faes TRariad STt $fEe § 318 .09, & 4T 34 et ugel aR U So/T df alur-
g4 Uik o aft o T & SHiSY Bics ARIA BI8e okidl - 38 Uld $1 WISR B3 & Ui H-=31 Udhe @1l I5i- dal
3% Ui &1 Hod H URIel U T TR 11 §; d $s ouFT SiiEAE & dule] iR 8 76l 30 Gibd iR 304 R B3 &1
quT 3@ MH Ul &f UR & U6 Sufarien faawan ghfl| e+ Ukdid fddl & S 991 & 98 96 &1 9let, o
YRd @1 Gfdd & U a0 & AR WU 919 I YRAY FEE] ST Gald dul YgdiT SeH gt Ud 33 .UA.U. & J8 4R &l
TR 5 B3 &1 912

Who made this statement that, "Any liberation of India secured through Japanese sacrifices is worse than slavery.”?

1. Captain Mohan Singh
2. Rashbehari Bose

3. Subhash Chandra Bose
4. Rajmohan Bose

(1) 1
) 2
3) 3
4) 4

Tg S [6g®! 3 o "SI afciaF & H19H 9 HRd ®1 Bl Hiad aradl 9 4 e 81

1. 6P HigA 148
2.3 faeidi 99
3. gHIY 9% a9
4. I HET 99

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27493] Question Description : dwbv_pg_his_eng_2_q98
2[Option ID=27494]

3[Option ID=27495]
4[Option ID=27496]

Sl. No.99
QBID:6099




Read the given passage and answer the questions that follow.

When Netaji first raised the question of .N.A. participating in the proposed Japanese campaign against Imphal (in Manipur,
India), Field-Marshal Count Terauchi, the Commander of all the Japanese forces in South-East Asia, expressed unwillingness
to accept the proposal. Its soldiers, he said, had been demoralized by defeat in Malaya; they could not stand up to the
rigours of a Japanese campaign, and would have an irresistible compulsion to cross over to their old friends and easier
circumstances. He proposed that the Japanese Army should do all that was necessary to liberate India, that Bose himself
should assist by enlisting the goodwill and co-operation of the Indian population, that the main part of the LN.A. should be
left in Singapore.

FrafafE i 1 13 ok 912 g o usi & g Siftre)

S el 7 SHBIE (MR & AR H) $ faes TRariad STt $fEe § 318 .09, & 4T 34 et ugel aR U So/T df alur-
g4 Uik o aft o T & SHiSY Bics ARIA BI8e okidl - 38 Uld $1 WISR B3 & Ui H-=31 Udhe @1l I5i- dal
3% Ui &1 Hod H URIel U T TR 11 §; d $s ouFT SiiEAE & dule] iR 8 76l 30 Gibd iR 304 R B3 &1
quT 3@ MH Ul &f UR & U6 Sufarien faawan ghfl| e+ Ukdid fddl & S 991 & 98 96 &1 9let, o
YRd @1 Gfdd & U a0 & AR WU 919 I YRAY FEE] ST Gald dul YgdiT SeH gt Ud 33 .UA.U. & J8 4R &l
TR 5 B3 &1 912

What was the feeling of Netaji about participation of Indians in the war?

1. Netaji insisted that Indians must make the maximum contribution of blood and sacrifice themselves.
2. Indians must follow the non-violent methods of Mahatma Gandhi.

3. Indians should just play the role of subsidiary.

4. Main parts of .N.A. should be left in Singapore.

(1) 1
) 2
3) 3
4) 4

g | YRl & HFT T & a1 H -drell &1 &l [dar 41

1. 9T 9 39 R 99 fear i YRG! & 39d 3R e § siffiean aneH o1 Iiieul
2. YRG! & HeTel Mt & Highd adid! &1 a0 &A1 d1gy|

3. YRA1G thad Hed® @I YiHeT HHI|

4. AEUAT & g YT &I R ¥ Bis o I @nfeu)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27497] Question Description : dwbv_pg_his_eng_2_q99
2[Option ID=27498]

3[Option ID=27499]
4[Option ID=27500]

Sl. No.100
QBID:60100




Read the given passage and answer the questions that follow.

When Netaji first raised the question of .N.A. participating in the proposed Japanese campaign against Imphal (in Manipur,
India), Field-Marshal Count Terauchi, the Commander of all the Japanese forces in South-East Asia, expressed unwillingness
to accept the proposal. Its soldiers, he said, had been demoralized by defeat in Malaya; they could not stand up to the
rigours of a Japanese campaign, and would have an irresistible compulsion to cross over to their old friends and easier
circumstances. He proposed that the Japanese Army should do all that was necessary to liberate India, that Bose himself
should assist by enlisting the goodwill and co-operation of the Indian population, that the main part of the LN.A. should be
left in Singapore.

FrafafE i 1 13 ok 912 g o usi & g Siftre)

S el 7 SHBIE (MR & AR H) $ faes TRariad STt $fEe § 318 .09, & 4T 34 et ugel aR U So/T df alur-
g4 Uik o aft o T & SHiSY Bics ARIA BI8e okidl - 38 Uld $1 WISR B3 & Ui H-=31 Udhe @1l I5i- dal
3% Ui &1 Hod H URIel U T TR 11 §; d $s ouFT SiiEAE & dule] iR 8 76l 30 Gibd iR 304 R B3 &1
quT 3@ MH Ul &f UR & U6 Sufarien faawan ghfl| e+ Ukdid fddl & S 991 & 98 96 &1 9let, o
YRd @1 Gfdd & U a0 & AR WU 919 I YRAY FEE] ST Gald dul YgdiT SeH gt Ud 33 .UA.U. & J8 4R &l
TR 5 B3 &1 912

Who was the Chief of the Japanese General Staff in Burma who met with Subhash Chandra Bose in January 19447

1. Count Terauchi

2. General Katakura
3. General Kaladan
4. Count Tambacheri

1) 1
() 2
3) 3
(@) 4
THT § W9 oFRd €16 &I §-10id (RN S1F oI, o8- o-adl 1944 H U % a9 4 He @t 47
1. BIEC ol
2. S PP

3. R Beed
4. ®Ige darit

1)
(2)
(3)
(4)

A W N R

1[Option ID=27141] Question Description : dwbv_pg_his_eng_2_q100
2[Option ID=27142]
3[Option ID=27143]
4[Option ID=27144]




